.

| g | 1 ; ! 1 1 ] : _

Version No. ROLL NUMBER
3]0(1]|1
© 0! © © © © @ © © ©
ONON N J OONIONONIONO
ENGLISH ® ®@ @ ® ®@ 0 0 @ 0 0
COMPULSORY HSSC-I ® 0 0 0O ® 00 060 60 0
SECTION - A (Marks 20)
Time allowed: 25 Minutes ® 6 600 ® 6 06006
Section —~ A is compulsory. All parts of this
section are to be answered on this page and @ @ @ @ @ @ @ @ @ @
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. @ @ @ @ @ @ : @ @ @ @
. Do not use lead pencil.
SNl S Lir ESp S sy P rehpLnig $300.20 @ 0 ®© @ ©O 0 0 @ © O
Lt Ji S e e
- o
®@ ® @ @ ® ®©©® @ @ ®
Answer Sheet No.
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Fill the relevant bubble against each question according to curriculum: Candidate Sign.
Question A B C D AlBs]|]c]| o]
Some of the stories evoke nostalgia and
create interest of the readers.
L The underlined word refers to memory Pgst Present Future Mode O O O O
about:
“Love winged my hopes and taught me how ‘ )
2. tofly...” , Simile Metaphor Personification |Allusion O O O O
Which figures of speech is used in this line?
3 “Soft smooth fur felt good against the skin.” {Visual Auditory Olfactory Tactile O O O O
" This sentence is an example of: Imagery Imagery Imagery Imagery
Which of the following elements of play is the ‘
4. major reason of literary composition? Plot Theme Character Spectacle O O O O
“He works hard whereas his brother enjoys )
5.  his life.” Time Contrast Addition Consequence; O O O O
The sentence contains transitional device of: i - :
6. |Intearity is found among the noble people. |y, iract Coun{ablé Concrete Appositive O O O O
" The underlined noun is:
To _be or not to be is the question. The{Adverbial Adverbial
7. underlined part is: phrase clause Noun clause |Noun phrase O O O O
3 Which one of the following sentences has {You maygo {Maylcome {May youlive |You may not O O O O
" an Optative mode? now. in? long! go now.
. . She puts the |{She has put [She putthe {She had put
q. !I‘_je"t'fY the sentence that has Simple Past cup on the the cup on cup on the the cup on O O O O
ense:
, table the table table the table
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|| Question A B c D AlBB|c D]
. . . The boys fly .
10 Which one of the following sentences has | The birds fly kites on The pilots fly |l learnt to fly O O O O
" an Intransitive verb? in the air Basant the plane the kites
| will be looking forward to your positive |l avoid I won't look |l reject | want
11. response. positive for positive  |positive positive O O O O
Infer the correct option from the following: {response response response response
12 Alice believes in herself. The underlined {Reflexive Emphatic Relative Demonstrative O O O O
* word is: pronoun pronoun pronoun pronoun
: m{e?:s’:gzrrse My brothers’ {My brothers’ My brother's
13 in which one of the following sentences, visible from interest's are |interests are  |interests’ are O O O O
" apostrophes are correctly used? their's visible from  }visible from }visible from
; their hobbies {their hobbies itheir hobbies
hobbies
You must write blue ink. Choose
1. the correct preposition: By In On Through O O O O
The students are training in the field. The - . .. {Present
15, derlined word is: Infinitive Noun Past participle participle O O O O
Unless he works hard, he will not succeed.
16. T e underlined part s: Noun phrase |Noun clause |Adverb phraseAdverbclausel O (O O O
The sunrises in East. No article
17. Choose the correct article if needed. the a an needed O O O O
18 Which one of the following sentences : é:riilzr::ke | will come | finished my {He moved O O O O
" contains Adverb of frequency? evening soon work last night{siowly
19 f?rt:t; I:;:atﬁ?:d school late for she missed her Subprdingting Correlative  |{Cumulative |lllative O O O O
The sentence contains: conjunction  |conjunction  {conjunction  {Conjunction
People rub  |The people {When people |Many people
2 Which of the following is a simple jtheirhands |feel cold and ifeel cold, they {rub their O O O O
" sentence? when winter jthey rub their {rub their hands in
starts. hands. hands. winter.
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ENGLISH COMPULSORY HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:

Answer the questions in Section ‘B’ and ‘C’ at the place specified for it therein on the separately
provided E-Sheet. Write your answers neatly and legibly.

Q.2

Note:

Q.3

SECTION - B (Marks 40)

Read the following passage carefully and answer any SIX questions including Question No. (i)
appended to it. _

Question No. (i) about summary writing is compulsory carrying 08 marks while rest of the questions
carry 04 marks each (8+5x4=28)

The only revolution that will heal us is one in which men and women come together and place the
creation of rich family life back in the center of horizon of our values. A letter | got recently from a woman makes
the point; “Perhaps, the real shift will come when men fully realize, in the gut and not just in the head, that they
are fully responsible, with women for the creation, nurturing, and protection of children”.

- You may object, “All of this is well enough in theory but unfortunately in fact, for many people, the family
was vicious trap and a cruel destiny. The place that should have been a sanctuary was often torture house. The
arms that should have helped us, often pushed us away. Many flee the family because it was the place of injury,
captivity, disappointment and abuse. The children of alcoholics and abusive parents fear marriage and family
and often find their solace in becoming solitary. There are so many bad marriages and dysfunctional families, it
sometimes seems only reasonable to junk the institution or invent a replacement. True enough, but hopes of
replacing the family with some more perfect institution, like hi-tech pipe dreams of creating space colonies into
which we can escape, when we have polluted the earth, have proven to be both dangerous and deluded. It is
within the bonds of what is familial that we must live or perish.

Fortunately, the profusion of dysfunctional families does not necessarily predict a grim future for the
family. One of the standard themes in mythology is the promise of wounded healer. In our hurt lies the source of
our healing. The bird with the broken and mended wings soar the highest. Where you stumble and fall, there
you find the treasure. One of man’s greatest resources for change is our wound and our longing for the missing
father. We can heal ourselves by becoming the kind of fathers we wanted but did not have. Create out of the
void, out of the absence.

(i) Write down the summary of the given passage and suggest a suitable title. (Compulsory)

(ii) What are the responsibilities of men for the smooth functioning of family bond?

(iii) Why does family become source of trouble for some people?

(iv) What are the reasons of fear regarding marriage and family among some children?

(v) How is in our hurt lies the source of our healing? Justify your answer.

(vi) Can we heal ourselves by becoming the kind of fathers we wanted but did not have? Why or why not?
(vii) What is the implied theme of the passage? Elaborate :

(vii)  Write down the synonyms for the underlined words.(Any four)

A. Read the following poetic extract carefully and answer the questions appended to it: (2+2+2=06)

. And on the pedestal, these words appear:
“My name is Ozymandias, king of kings;
Look on my works, ye Mighty, and despair!
Nothing beside remains. Round the decay
Of that colossal Wreck, boundless and bare
The lone and level sands stretch far away.”

Questions:

(i) What does the inscription, “king of kings” suggest about Ozymandias?
(i) Point out irony from the stanza.
(iii) Wirite down at least one rhyming word for

(a) King (b) Bare
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Note:

Q.4

Note:

Q.5

OR

in. Artis long, and Time is fleeting,
And our heart, though stout and brave,
Still like muffled drums, are beating
Funeral marches to the grave

Questions:
(i) What does the poet mean by “art is long and time is fleeting”?
(i) Which figure of speech is used in the stanza? Point it out.
(iii) What is the rhyming scheme of the stanza?
B. Attempt any ONE of the following questions: (06)
(i) What is meant by ‘Plot’ of the play? Refer to any play, you have read.
(i) Point out at least two types of ‘setting in the play’ and elaborate any one with reference to play
of your choice.

SECTION — C (Marks 40)

Attempt ALL the questions.
Write down your Resume for the Post of ‘Elementary School Teacher’, advertised in the newspaper. (08)
OR
Write down an application to the Health Officer for taking measures against dengue fever in your area.
The candidates are advised not to mention their real names and addresses.
A. Pick the correct phrasal verbs to complete any six of the following sentences appropriately: (06)
(i) The audience will you during your performance. (back up, back out)
(ii) They our program. (agree with, agree to)
(iii) The public _ decrease in prices of the utility items. (call at, call for)
(iv) Everyone should ‘the calamity stricken people. (care for, care of)
(v) She has just her lost purse. (come about, come across)
(vi) It is a universal truth that days in summer. (draw out, draw up)
(vii) Don't others as immediate response.(jump at, jump on)
(viii) All the aggression will be soon. (put down, put on)
B. Use the correct form of verbs given in parentheses. (Any SIX) (06)
(i) Hard work never (go) waste.
(ii) Babur (find) the Mughal Empire.
(iii) It (rain) since Monday.
(iv) Who (break) this glass yesterday?
(v) He soon found that he (commit) a mistake.
(vi) | claim that | (win) the next match.
(vii) Water (evaporate) if it boils.
C. Punctuate the following lines/paragraph: (04)
the king declared that criminals havent any right to be relieved. ill not spare anyone he said
Write a letter to the City Police Officer about the poor response of the public towards precautionary measures
against Covid-19. (08)
Translate the following passage from English to Urdu. (08)

Life is not a tale told by an idiot. It is a great blessing of the Almighty. One should not be pessimistic in tackling
the harsh realities of life as every dark cloud has a silver lining. The most optimistic approach towards life is, to
cope up the pain and pang of crucial circumstances with a smile. It is the only stunning tactic of the champions.
It is not stress that kills us, it is our reaction to it so be brave and be victorious.

(OR)
Write a dialogue between two students on the utilization of time positively. (Dialogue must have at least Eight
sets of conversation relevant to the topic other than the opening and the closing)

—1HA-I 2301 —

Page 2 of 2 (English Comp)



B Version No. ROLL NUMBER
. 31021
| '
© @ © © © © © © © ©
u . | ® O 0 e ® 0O 000 0
n ENGLISH ADVANCE / ® © @ ® @ 2 ® @ ®@ ®
n SECTION — A (Marks 20)
» Time allowed: 25 Minutes ® ® ® O @ ® @ @ ® @®
. Section ~ A is compulsory. All parts of this
section are to be answered on this page and @ @ @ ® ® ® @ ® @ ®
. handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.
Do not use lead pencil. ' @ @ @ @ @ @ @ @ @ @
. i S LS r LS p Pt s 21 cinLing Sy o’ RO ONG) @ O 0 O @ O
. ._q._C:"'JL'L/I(J;';L_).g,da)_HJé
n
| ® ® @ @ ® © ® ® ® ©
» Answer Sheet No.
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. Fill the relevant bubble against each question according to curriculum: Candidate Sign. _
B | question o A | B | ¢ i b Als]c]|Dp|
. . L 5 S 'Well E
‘- In “The Deserted Village”, Oliver Goldsmith: Noisy 1Peaceful 'Disturbing ' . '
7 1 presents the school as a/an: rmansion 1abode iplace izzgﬁ:smd i o O o O
“Ozymandias of Egypt” by P.B. Shelley is! : . 5
. Elegy {Ballad {Ode somet 1 O O O O
i Alfred Tennyson composed “Break, Break,§ ’
B3 Greak’ on the death of his friend, named: EJohn Byron ERobert Frost eArthur Hallam EPeterson ; O O O O
. 4. “Stopping by Woods” is composed by iTed Hughes §P.B. Shelley éRobert Frost ET.S. Eliot O O O O
- Alexander Pope in his poem “An Essay in: EG ; 5 :
o T : 1Greek ; i Greek :
- 5. aC/gtrlflsm refers to ‘Timotheus, who wasiGreek Hero Politician iGreek Poet | Architect 5 O O O O
._ 6. The Skylark typiﬁeé those people who are: : Shrewd ' Wise glntelligent §Cowérd O O O O
Emily Dickinson in “Because | Could notg : :
B 7. Stop for Death”, describes death angle as|Partner  Suitor ‘Friend 1Alien O O O O
- alan: : ' ' : : ;
n | : s s s
: In “Dover Beach”, Mathew Arnold Iamentsi . . iLoss of
B erthe EL,OSS of Faith ELoss of Life ELoss of Love Property i O O O O
‘ in “Ode To The Nightingale”, John KeatsiDelightful iPlaintive -
W’ cals the birds song: Molody  (SadMelody ixtpon  (PatioicSongt O O O O
L gave the fitle “Last Lines” to Emily; iCharlotte | i
- 10. gronte's boem? :Sarah Bronte ;Jane Gold Bronte i Stella Bronte ! O O O O
n 11. Sophocles wrote his last play at the age of: {Eighty ‘Eighty five | Ninety Ninetyfive ©: O O O O
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| | Question Jir A ; B ; c D ENERERED
12, For the born traveller, travelling is a/an: EBesetting viceé Besetting sin iArt gHobby O O O O
“ T . ?D.H. éChris éBertrand iJ.B.
13. "Amateur Athlet'és is written by: iLawrence  :Chataway  :Russell :Boothroyd & O O O O
14. Mammon is the god of: iWeaIth iWine iFertility EVegetation O O O O
15. The pen name of E.V.Knox was: iEvee 'Nimp iEvoe 'Knoxum O O O O
'Ideal of o | .
. . . ‘Ideal of ‘ldeal of : :Ideal of pride :
16. Spanish Bullfight aims at: courage  ehivalry 5:{:Iéery and land valour | O O O O
Partgride was the character in Henryf EJoseph . : Lo :
17. Fielding's novel iTom Jones  Andrews EAmeha EShamela | O O O O
The name of the dog, mentioned in “The Iittlei ;
18. Black Car’ was: ES’tella EJacky EShella EToby O O O O
19. “Voracious” means: iLazy iGreedy iThoughtfuI iCIeve’r O O O O
. . ' , !London EHampton 5 :
20. The maze was situated at: iKing's Court | Bridge  Court :Bond Street O O O O
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Time allowed: 2:35 Hours

ENGLISH ADVANCE / ELECTIVE HSSC-I |

Tofal Marks Sectiohs B and C: 80

NOTE:

Section ‘B’ and ‘C’ comprise pages 1 — 2 and answer all the questions from Section “B” and Section
“C” on the separately provided answer book. Write your answers neatly and legibly.

Note: Attempt Ali the questions.

Q.2

Q.3

SECTION — B (Marks 46)

Answer the following parts in about 50 to 60 words each: (6x4=24)

(i)

(i)
(i)

(vi)

(ii)

(iii)

Is it true that critical thinking cannot be developed if students are spoon fed? Diséuss it with reference
to “Spoon Feeding” W.R.inge.
A.G. Gardiner in “The Great God Gun” satirizes the concept of weaponization. Elaborate.
“Are Women Human"” is Dorothy. L.Sawyer's penetrating essay that throws light on the role of women in
society. Explain.
Virginia Woolf's “To the Lighthouse” presents the transaction between the mother and life, in which shé
always tries to protect her children. Discuss.
What does Plomer in “On Not Answering the Telephone” mean when he says, ‘It is a matter of
preferences, not principles, that | choose to do, without a machine”™?
How does Pastridge criticize the grave-digging scene in “A Visit to the Theatre"?

| -OR-

The colliers had an instinct of beauty but their wives had not. Discuss it with reference to “My Early Home"

by D.H. Lawrence.

Answer any TWO of the following parts in about 70 to 75 words each: (2x6=12)

Sir Walter Scott’s “Proud Maisie in the Woods” ends on a cruel note. Explain.
Describe “Dover Beach” by Mathew Arnold as a painful but eloquent expression of the agonies of

religious doubts in the 19t century.
In Shakespeare's “Blow thou Winter Wind”, what emotion is found to be more powerful,

cheerfulness or bitterness?

Explain any TWO of the following stanzas With reference to the context: (2x5=10)

Fear Death? To feel the fog in my throat,
The mist in my face,

When the snows begin, and

The blasts denote

| am nearing the place.

The weariness, the fever and the fret
Here, palsy shakes a few, sad,

Last grey hairs,

Where youth grows pale, and
Spectre thin, and dies

When, I consider how my light is spent,
E’er half my days, in this

Dark world and wide

And that one talent which is

Death to hide,

Lodged with me useless......
Page 1 of 2 (Eng. Adv / Elect)



Note:

Q.4

Q.5

SECTION - C (Marks 34)

Attempt ALL the questions.
Write an essay of about 300-350 words on ONE of the following topics: (15)
(i) Cowards Die Many Times Before Their Death

(i) Pleasures of Reading

Combine SEVEN of the following pairs of simple sentences to make one sentence each, using a

conjunction or a relative pronoun or any other suitable connective: (7)
(i) My friend’s father is a doctor. He lives near my house.
(if) He was confused. He could not make a correct decision.

(iif) He cannot buy a car. He cannot go abroad.

(iv) Ahmad was obstinate. He was punished.

(v) You should work hard. You will fail.

(vi) The festival was cancelled. It was raining heavily.

(vii) The Principal entered the hall. All the students stood up.
(viii)  He is wicked. He is corrupt.

Read the following passage carefully and answer the questions appended to it:

It is impossible for a well-educated, intellectual or a brave man to make money the chief object of
his thoughts; just as it is for him to make his dinner his principal thought or aim. All healthy people like
their dinners, but dinner is not the main motive of their lives. So, all healthy minded people like making
money, yet to like it and to enjoy the sensation of winning it, but money is not their main concern. It is
something better than money. For instance, a good soldier, mainly wishes to do his fighting well. He is
glad over getting good salary, still his main notion of life is to win battles. Similarly, if a doctor is dedicated
and well educated, the entire objective of his life is not to get fee for treating patients. On the whole his
main desire is to cure the sick. And so with other brave and rightly trained people; their work is first, their
fee is second. On the other hand there are selfish people whose main motive is to get money even at the
cost of hurting and killing others. They are more concerned about fulfilling their selfish, petty personal
interests. But nations progress on the basis of work done by the selfless and rightly trained people.

Questions:

(i) What is the main objective of well-educated people? ' (2)
(ii) Does a good soldier feel glad only when he gets good salary? (2)
(iii) How can nations progress (2)
(iv) Summarize the passage into one third of its length and suggest a suitable title. (6)

—1HA-Il 2302 —
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o SECTION - A (Marks 20)
N Time allowed: 25 Minutes @ @ ® ® ®@ @ @ @@ ® ©
’ Section — A is compulsory. All parts of this '
_ section are to be answered on this page and
. handed over to the Centre Superintendent. @ @ . @ @ @ @ @ @ @
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. ) Do not use lead pencil. ® @ ® @ @ ® ® @ ® ®
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Answer Sheet No.
. g It nd LS L o sz LUiv ; INVigilator Sign.
' Fill the relevant bubble against each question according to curriculum: Candidate Sign.
& T question . A | B | ¢ { b tAalB]c]| D]
B \uhich province of Paistan is called “The gift, Khyber . . . P
-1. of the Indus™? | Pakhtunkhwa EBaluchls’tan ESlndh EPunjab ! O
B, The area of Pakistan is as estimated! ; 5 5 5
2. square km. 5668,591 2868,591 5568,591 5968,591 5 O
N The Roman used the word “Incultus” to::NobIe and %Rough and ERude and §Polish and O
" denote a man. igentle itough ivulgar relegant ;
.4 The fourth absolute truth which constitutef?g;e;gnd 'Beliefin the :Beliefin gg:;;‘szm the O
Iman (faith) is: 'books Eangles Eprophets 5ju dgment
Bharat (India) lies in the of! §
.5. Pakistan. ENorth ESouth EWest 3East O
- . The Arab occupation of Sindh, affected iniHijaj Bin §Yousaf Bin %Muhammad o o
6 712AD. by: 1Yousaf i Tashfeen 1Bin Qasim fTa”q Bin Z'adi O
. 1 | i , .
' Shaikh 3 . 5 5
. - . . L 'Shah Wali | Sir Syed :Syed Ahmed |
7. The real name of Mujaddid Alf-i-Sani was: EA'hrr.ledl {Ullah : Ahmed Khan |Bralvi O
. :Strhmdl | : : :
B. Muhammad Ali Jinnah (The Quaid-i-Azam)] | :
B e Muslim Loagua i 1906 1909 1913 ;1916 O
.9. The cabinet mission plan came to India in: 51942 §1944 21946 §1947 O
.10. Shah Ismail Shaheed (4£%) was martyredin:éKashmir iLahore gBaIakot éPeshawar O
| “11. The old name of Pak-Pattan was: tAjodhan 'Neronkot 'Purushapur :Debal : O
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, ] Question : A : B C : D

12. The war of independence was fought in: 21757 11857 11707 11831 ; O -

is called the “Lissan-ul-Ghaib” oféKhushhaI éMirza Khan . ‘ERahman

13. Pashtu poetry. iKhan Khattak | Ansari EAm" Karor 1Baba i O -

iMakhdum 5 E 2 . 5 .
" ¢ al ! :Shah Abdul !Sachal ‘Nabi Bakhsh :

14. Who wrote “Shah-Jo-Risalo”? El:luha_mmad |Latif Bhitai | Sarmast {Legahari O -
'Hashim ! ' : H

15, ?;‘he Indian National Congress was foundedg 1857 21885 ?1905 21906 f O
“Fatawi-i-Alamgiri” was compiled during thei .

16 ora of EAkbar iBabar EAurangzeb EHumayon O
Who was popularly known as Ganj—i—fShaikh L : ‘Sachal f

1. Shakar? ‘Fariduddin iBa” Imam ESuItan Bahu 'Sarmast i O =
Who destroyed the caliphate of Baghdad in! L 5 ;

18. 4oce A D2 \Marhatas  :Sikhs | Jatt {Mongol | O ]

| o = | s »
Persian verses of have been:Mirza Qalich !Akhund : :Sachal !

19. . i O e : e iMuhammad o : O on
published as “Diwan-i-Ashkara”. ;Beg EAZIZU“ah ' Lakhvi ;Sarmast 3 -
Who started the monthly Baluchi Journal | Azad i . . iAbdul Karim | . .

20. “Baluchi? | Jamaldini EKha:r Nadvi ' Shorish EAhmad Jigar ; Q .

—1HA-Il 2305-3051 ——
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PAKISTAN CULTURE HSSC-I

Time allowed: 2:35 Hours ' Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 50)

Q.2 Attempt any TEN parts. The answer to each part should not exceed 3 to 5 lines. (10x5=50)

(i)
(if)
(i)

(iv)

(xi)

(xil)

How did Greeks define culture?

Write a brief note on the Lower IndUs Basin.

Wirite down the names of five rivers of the Punjab.

Highlight the importance of the coastline of Pakistan.

What was the role of Muhammad bin Qasim in the history of subcontinent?
Explain the concept of “Dar-al-Islam” in few lines.

Write a brief note on Khilafat Movement.

Write down the importance of fhe Presidential address of Allama lgbal (£%) at Allahbad in 1930.
What is the concept of Prophet-hood (Risalat) according to Islamic teachings?

It is said that Geographically, Pakistan occupies a central position. Explain briefly.
Write a brief note on “Qawwali”.

Write down the names of six Calligraphic styles of Ibn-i-Mugla.

What is the role of Pakistan Study Centre for the cause of education?

(xiii)
(xiv)  Enlist the names of any four folk tales of Punjabi language.
SECTION ~ C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks ‘ (3x10=30)

Q.3  Explain in detail the Socio-Political decline of Muslims in Sub-Continent.

Q.4  Write a detailed note on Religious Groups in Pakistan.

Q.5 Wirite down the importance of the Mountainous Zone of Pakistan.

Q.6 What efforts have been made by Sir Syed Ahmad Khan for the reawakening of the Muslims of the subcontinent?

—— 1HA-ll 2305 —
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Answer Sheet No.

-u//L;n,y/,awéﬁ,fﬁi@é‘_w:dw . Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign. )

| Question Jir A B c D AlB]c| o]
Faith in existence of Allah (%) is included in ' : '
which thing of the human? - Habit Prayer Intelligence | Nature \
-‘LLF 194 JUU'UM'/,&WUIP:?’ il ealf = = O O O O
Completion of “Deen” has been mentioned
in which surah of quran? , Al-Baqara Al-Nisa Al-Maida Al-Ahzab
: : _?‘L(j::d)’(f,//jgd_’}f Iy A U A7 O O O O
Which word has been used for ‘angles’ in the S ‘ S
Holy Quran? Qasid Rasool - Nabi Rajul
9gxdt=>csﬂvufu:uf/"¢£fu 25 Urs ¢ s O O O O
How much more reward is there in
congregational prayer as compared to : . B
individual prayer? 24 times 26 time 27 times 30 times O O O O
Seml UL B LGPV S G {24 26 t27 ¢30
The running between Safa and Marwa is .
called: Tawaf Rami Jamar {Istelam Saee
?‘Lt'lgl;v(_.b(fdfﬁL/‘»u,l{/)éu/mlb b Az, ' (- 8 O O O ’ O
To follow up the moral values is a . -
duty for Muslims. Religious Political Economic Social .
?:_,A!,/Lfd/lyuflwudu»lé_ﬁuid/‘ i Sk S d b O O O O
Which condition is obligatory for the 2 v
acceptance of_ prayers? _ Legal eaming }{ Sincerity Morality Piety : O O O O
S lonfs Sl a) d Laddbenr | Ui SE i ] .
. Hazrat Asma {Hazrat Asma jHazrat Umm- {Hazrat Umm-
What was the name of Hazrat Jaffar Tayyar's | Bint-e-Abi Bint-e-Abi e-Ammara e-Kalsoom
(42) wife? Bakar (%) {Umais (&) |(4%) () O O O O
, Gt ols PR e | Ades dre o (e e o B e
v
Hazrat Abu Hazrat Omer {Hazrat Hazrat Al
Who is regarded as Jami- ul- Quran? Bakar (58)  |(48) Usman (48) |(#8) . O O O O
Ul /ufa_uu}’u(jx, e o e o = o e

Which surah was récited on the demand of
Hazrat Muhammad (1) () fe) by

ll_ollpollgl-g»-l_nl-lll.l"”il.ulﬂllll'lIII’I.IIIEF

Mo, Hazrat Abdullah bin Masood (58)? ~ |AlAnfal  |AiBagara  |AlTauba  |AlNisa O O O O
‘, .,m;ufzu‘v&(u:v:’«(u) BE 12 & St e o | i A A w3

. . ('U(u:lﬁ‘(; .
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ISLAMIC EDUCATION (COMPULSORY) HSSC-I

Time allowed: 2:15 Hours Total Marks Sections B, C and D: 40

NOTE: Answer the questions given in the sections B, C and D on the separately provided answer book

according to instructions.

Q.2

Note:
Q3

Q.4
Q.5

Q.6

Q.7

SECTION — B (Marks 16)
Answers any EIGHT parts. The answer to each part should not exceed 3 to 4 lines. (8x2=16)

(i) State two economic benefits of Zakat.

(i) State two doubts/objections of people who do not believe in the day of judgement.
(i) In what two ways can one avoid illegal earning?

(iv)  State and explain mutual relationship between months of Ramazan and Pakistan.
(v) State difference between back biting and slandering.

(vi)  State two reasons of divine punishment (1) on previous Ummahs.

.. Write the names of any two of these things on which Quran was written during the early period of Prophet
(vii)
Muhammad (&%) (c=176).

(viii)  Briefly explain the concept of Tarteeb-e- Tauqifi.
(ix)  Whatis meant by Tasbeeh-e-Fatima (i4%)?
(x) Describe two types of neighbors.

SECTION - C (Marks 16)
Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

What is meant by “Belief’ in oneness of God? Write in detail its impacts on human life.
What is meant by compilaﬁon of Hadith? State its stages in detail.

Write detailed notes on following:

(a) Fulfilment of promise

(b) Patience and steadfastness

SECTION — D (Marks 08)

Translate and explain any ONE of the following Quranic Verses: (1+3=4)

%/ra s ,J jiﬂgﬁfu)”@ 9); /] 6)@63} (i)

Translate the following Ahadith: (2+2=4)

A i Ll Yo L 55 38018023 0

il

ad e lasussl 55 pladl I ,,.wijé (i
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(8x2=16)

(2x8=16)

(1+3=4)

(2+42=4)
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SleelEnla Ty (i)
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LSO ST (V)
SOt med (V)
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n Answer Sheet No.
o I fimendb LS L e L, Invigilator Sign.
. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
F Question b A | B ¢ 1 Db iA]lB|]c] D]
~ The first human institution is: ; Family ' Tribe :State fSociety E
i S LufattdUiikg | it LS EV/I.J Y- ; © O O O
. The word ‘society’ is derived from: {Urdu Latin iEngllsh ! German :
2 ;o : : : :
. ?‘L}fl.c-uii‘f((society)é’ Lykd o :o‘t' I :d//rl Wz H O O O O
| , ; . , E ! ’ . :
The most important element of the state is: Population  :Territory iGovernment :Sovereignty
3. : ! . O O O O
] Sl flae K Asl AT e e : R !
. g :Admmlstratwe i ?Constitutional §
4, Basic law of the state is: :Publlc law :Iaw EMilitary law Elaw ) : O O O O
] e bal-uf it d)w._/t/ Ot 4 5 ufb g LI ES LT :
. The first meeting of OIC (Organization ofi 5
Islamic Conference) was held in: ' : : . ,
5. 11939 11959 11969 11979 '
u i St SO Pegu ; ; : : © 0 O O
» Basic organs of UNO (United Nation: i '
/ Organization) are: Four 1 Six 1 Eight iTen '
6. H i . : . H
. ?wzfg_/i,id;gé.irii e E z : 7 g ; O O O O
’ Basic characteristics of citizenship are: gTwo §Three éFour ;:Five
-‘ : J l H H
p The moral duties of a person are determinedi ; :
by: Famiiy 1 State 1 Society :Conscience |
- et/ P Kfl/uﬂai&uw.uub e Iy e ©c O O O
- Which religion makes women full citizen off i i ;
the state? iIslam 1Judaism :Christianity  :Hinduism '
- TL&L»../;'lt/di({—quﬂw}‘/fuflfirﬂ/l E\./)m Eu’l" E../:M E O O O O
! According to Islam all human being were: :
born; iLiberal :Slave 'Black White l
) ' iy, IOl L e EJ’/'T : (% ' Ly : i : O O O O
= - - ' - :
|
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CIVICS (For Non-Muslims) HSSC-I /

Time allowed: 2:15 Hours - Total Marks Sections B and C: 40

NOTE: Answer any seven parts from Section ‘B’ and any one question from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 28)

Q.2 Answer any SEVEN parts. The answer to each part should not exceed 3 to 5 lines. (7 x4 =128)
(i) Wirite three important characteristics of an Islamic welfare state. '
(i'i) Describe any two merits of Parliamentry form of Government.

(i) What is meant by National liberty?

(iv) Enlist any three objectives of OIC (Organization of Islamic Conference).
(v) Write any three duties of economic and social council.

(vi) Describe any two reasons of losing citizenship.

(vii) What is meant by ‘aliens’?

(viiiy  Write any three political rights of a citizen.

SECTION — C (Marks 12)
Note: Attempt any ONE question. All questions carry equal marks. (1x12=12)
Q.3 Write a detailed note on the relationship between man and society.

Q.4  Describe the rights of Non-Muslims in an Islamic state in detail.

(281—('1 J/)(I”.J

(7x4 = 28) ..u.‘.‘ﬂ oA 2998 s )'é&::.u.; £AZ!(07).:A/:,JJ( e LLios i Ay
Gl ler? ns 5 e P Bl (i) G f e U feugbgn (i)
esriof SIS (W) | e e TS (i)
S F Az S Sl (Vi) P E LS oG (V)
sk 8L (il sen el (vil
(12~A SNy
(1x12 = 12) (s Lot gES Jrfitds)

I F LA WL sty e AU
S e SO L B e sbin R e
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- Answer Sheet No.
u G fmendb LS L e Ly, Invigilator Sign.
_ Fill the relevant bubble against each question according to curriculum: Candidate Sign.
F[ Question A B c D AlB | c]|[Dbp]
. Which of the following has higher efficiency? 100K and : )
L An  engine working between the 80K and 60K g5 40Kand20K [60Kand4ok | O O O O
. temperatures:
.2 Inwhich of the following processes, , yapaic Isothermal  {Isobaric Isochoric O O O O
.T temperature remains constant?
~ The density of a steel ball was determined by
J measuring its mass and diameter. The mass :
3. was measured with 1% and diameter with|10% 28% 2% 4% O O O O
. 3% uncertainly. The percentage error in the| - _
density of steel ball is approximately:
. Torque 7 is defined as the vector product of
position vector ;(moment arm) and force| — - - -
S rtan@ Zero rsin@ rcos@
i F. What will be the scalar product of torque e Frsin Freos O O O O
-— 7 and position vector r {(Moment arm)?
~ Which one of the following is unit vectorofai 4 , 2 .{ 4. 2 ., 14, 2. 4 . 2,
i = 2 4 —=i-=j| - = —f - =l —=
. vector 4=4i -2j J20 J20 N3 ‘/51 13 131 W 2\/3-1 O O O O
- A projectile is thrown so that it travels a
i maximum range of 1000m (8 =45°) . How|400m 4000m 500m 250m O O O O
‘ high will it rise? ‘
E When velocity time graph is a straight line{Acceleration |Velocity is Acceleration |Acceleration O O O O
- paraliel to time axis then: is zero zero is negative is variable
- The gravity does no work, when the body . At an angle of | vertically Vertically
.8' moves: Horizontally 45 downward  |upward O O O O
' If momentum of a body is doubled. Its kinetic Remains Becomes Becomes
-' energy: Becomes half constant double quadruple O O O O
Minute hand of a clock is 2m long. What will - i N
be its angular speed? 1.256 10" rads™' 6.28)‘0(15 ! 1.7x107 rads™ L(Mx]O'I' rads™ O O O , O |
j
i
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I Question A B Cc D
Linear speed of a point on a wheel increases Remains Is equal to Also Also
11. as we move from center to fim of wheel. The | linear speed |increases decreases O O O
angular speed of that point: .
12. The S.I unit of viscosity is: kgms™ kgm™'s kgm™'s™ kgm™'s™ O O O
A simple harmonic oscillator has amplitude
ple harmor nas ampitude) o7 2, x,
13. x, andtime period] . Its maximum speed at| ——2 = - O O O
mean position is: r 0 T
A simple pendulum suspended from the -
ceiling of a lift has time period T, when the lift . L
14. is at rest . If the lift falls freely, the time period Zero‘ Var Infinite \/E O O O
becomes:
Which one of the following factors has NO . -
15. effect on th & speed of sound in gas? Temperature |Density Humidity Pressure O O O
A transverse wave traveling in rare medium P
16. is reflected form the boundary of a denser| » radian 0 radian 27 radian — radian O O O
medium, it undergoes a phase change of: 2
17. The blue colour of the sky is due to: Polarization |{Scattering  [Diffraction  |Reflection O O O
~—1HA-Il 2308-3083 —
. 2_A T, 2
A‘m . v=,/ﬂ . v=w\fx,,’—x’ . 'I=1—-T’- ¢ R, =" . C=27r W = FSCosf
m 1
4 ?Sin” 6
* Vs;rzhere:_”r3 o density = ] ¢ H‘:V = o P=mv o« KE=—mV ¢ v=row m:i’f
3 volume 2g T
e T= 2'72' L
g
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Page 2 of 2 i

l@l.lllllllIllIllllllllln



PHYSICS HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE: Answer any FOURTEEN parts from Section ‘B’ and attempts any TWO questions from Section ‘C’ on

the separately provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.5

SECTION — B (Marks 42)

Answer any FOURTEEN parts. All parts carry equal marks. : (14 x 3 = 42)
(i) Differentiate between random and systematic errors.
(i) . Check if the famous Einstein equation E = mc*is dimensionally consistent.
(jii) Two coplanar vectors A and B are making an angle of 60° with respect . - } Sg) N cc:a e
to each other having magnitudes of 4 unit and 5 unit respectively. Find |1~ 1-Small-Division=-1-m/s-
area of parallelogram formed by these vectors. all.Division =1s
(iv) The velocity time graph shows the motion of bicyclist: 150 D)
(a) From the slope of the graph calculate the acceleration of the 731 G (C
- bicyclist between A and B, Band C, C and D & D and E. ) ’
(b) Calculate the average acceleration of the bicyclist. B Sy
v) Under what condition the sum of three vectors results into a nuli vector? /i ‘ E)
Briefly explain with diagram. - L‘é\ ) 1 7 20745
(vi)  Describe the term ‘escape velocity'. Write its formula in terms of ;
G, mand R . B0 4N §
(vii) ©  ‘Show that work done on a body is equal to change in its Kinetic energy. Q.No.2 (iv)
(viii) What is power? Show power as product of force and velocity.
(ix) Does the apparent weight of a body inside a lift become double, if lift is accelerating upward with acceleration
equal to gravitational acceleration (g) ? Justify your answer.
(x) What is banking of road? Show that angle of banking is correct for one speed.

(xi) Why does a diver changes his/her body position before and after diving in the pool?
(xii) Discuss aerofoil. State one practical example of aerofoil briefly.
(xiii) What is meant by moment of inertia? Write its mathematical expression and SI units.
(xiv)  What is resonance phenomenon? Give one example in which resonance plays an important role.
(xv) The speed of a wave on a particular string is 32m/ s . If the string is 8m long to what frequency will it resonate?
(xvi)  The magnitude of the viscous force in fluid flow depends on the shape and velocity of the object. Justify.
(xvii)  What is the effect of variation of pressure on the speed of sound in gas? '
(xviii)  Briefly explain the function of compensator plate in Michelson interfermeter.
(xix) Is it useful to leave an air-conditioned is left running on a table in the middle of the room? What will happen to
the temperature of the room?

(xx) Give two statements for the second law of thermodynamics.
SECTION —- C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2 x13 = 26)

a. What is meant by elastic and inelastic collisions? Give examples in each case. Derive mathematical equations
for calculating the final velocities of the elastically colliding bodies in one dimension. Draw diagrams.

b. Explain whether for two vectors of equal magnitude, is it possible to give a resultant of magnitude equal to their

individual magnitude. Justify your answer mathematically.
a. Explain the formation of stationary waves in an open organ pipe. lliustrate your answer with diagrams.
Prove that the motion of mass attached to a spring is SHM.
Describe the experimental arrangement for the production of interference fringes by Young's double slit method
and get an expression for this fringes space. Draw diagrams.
b. _Describe the terms ‘molar specific heat at constant pressure’ ( C, ) and ‘molar specific heat at constant volume’

(C,).Aisoprovethat( C,-C, =R)
Important formulae:

V,—V v
v= [T s F,=6anrv o v=wx)-x » a=L— + tanf=— . KE=—1-mv2
m L=t rg 2
- 27 2L
AxB=ABsin@ . Lo =10, . a=-0'x ¢ 0)=7 A, =—
n
—— 1HA-Il 2308 —
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| | Question A B c D AlBlc|D]
| When two atoms bond with each other Pure ioriic Hydrogen Pi(%) sigma (o)
. . . ionic - ydr
1. through overlapping of their sp’ hybrid bond bond covalent bond | covatent bond O O O O
. orbitals, predict which bond is formed?
u The wave number (;) of a radiation . 4 a — .
2. 8 0.15x10°nm™ | 100nm 0.5x10*nm 0.1x10°nm O O O O
- having 4=2x10"nmwill be:
n How much mass of O, is required to react
with 27g of Aluminum (4/)to produce 320 of
3. - 24g of o go 8g of 16g of oxyge
m’ mor | gofoxygen | gofoxygen {l6gofoxygen) O O O O
441430, - 241,0,
n |
Splitting of spectral lines in the presence of | Photoelectric ,
u 4. agnetic field is called: effect Zeeman effect |Stark's effect {Comptoneffecti (O (O | O O
n - Fluorine is Berylium is . H,Sis
s H.Shas anet dipole moment while BeF, |more more H,S is linear, wser, O O O O
| " has zero dipole moment because electronegative | electronegative | BeF, is angular angular, fef, '
than sulphur  {than sulphur is linear
. Which of the following gases does NOT
6. obey Dalton’s law of partial pressure at{ NH,and HCl { Heand Ne |H,and O, H,and He O O O O
. STP?.
. The ‘forcges present between the ion andi{London o . Dipole induced
7. water molecules are called: dispersion Dipole-dipole }lon dipole dipole O O O O
|
By passing H,S gas through water to make . -
. Amorphous  |Rhombic Monoclinic
B 38 2 saturated solution exposed to air|Plastic Sulphur Sulph?Jr Sulphur Sulphur O O O O
. produces:
. AgCl  solution, it of NaCli
9 In ‘gC sotftion some. .sa. ° 'S Leveling effect Electrolytic | Solubility Common ion O O O O
] ° added, resulted the precipitation of AgCl g effect product effect
due to:
B i 25dm° of lmol.dm™ of HNO,is added to ‘
B 50dnm’of 0.5mol.dm™of KOH solution, | 09 14 05 07 O O O O
what would be the pH of the resulting
. solution?
N
[ Page 10f 2 I
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Question A B C D Al B|lc]|oD
A buffer solution resists the change in its | Mixture of Mixture of Mixture of Mixture of
11, PH upon adding small amount of strong | CH,COONa | NH,Cland | NH,Cland | NH,Cland O O O O
" acid or base. Which of the following is an d NH.CI NH .OH NH.NO
example of Buffer solution? an a 4 WV NaCl
When  NaOH solution reacts  with : ; : :
Aluminum Aluminum . . | Aluminum
12. aluminum in different physical states, | powder Alloy Aluminum foil | oo O O O O
most rapid reaction should occur with:
The rate equation determined
experimentally  for this  reaction: First ord Second Fractional Pseudo first
CH.)\. KBr + H.O — (CH.\. KOH + HB irst order ractiona seudo firs
13. (Cth),KBr+H,0~(CH,), TP reaction order order reaction | order reaction O O O O
reaction
rate = K [(CH ;) KBr ] Hence it is:
Determine the ppm by mass of calcium in
14. 2.5grams tablet that contains 500mg of | 0.3x10° ppm | 0.2x10° ppm | 0.2x10° ppm | 0.4x10° ppm O O O O
calcium. v
The enthalpy of formation of CO,is
-394kJ / mol . What is the enthalpy change
15. +92KJ I'mol | +23KJ/mol | +788KJ / mol | +184KJ /mol
for the reaction ) O O O O
2C0, »2C+20, AH® =?
The boiling point of some compounds are
given:
Compound | Boiling point
CH,OH 65°C
16. CH 80°C CH,OH C,H,NH, CeH, C,H,NO, O O O O
CHNH, . 84°C
C,HNO, 112°C
Which one will show the highest vapour
pressure?
If a strip of Cut metal is placed in a solution Cuand Fe No reaction | C¥ is. Fe is
7. SfFeSO., - are both takes place | Precipitated | precipitated O O O O
4 dissolved out out
—1HA-Il 2309-3093——
ROLL NUMBER
SUPPLEMENTARY TABLE
Atomic No 1 2 3 4 5 6 7 8 9 [ 0] 1m 1271314 ]15s]16]17]18] 197 20
Symbol H He Li Be 8 C N [0} F Ne | Na | Mg | Al Si P S Cl Ar K Ca
Mass No 1 4 7 9 | 11 | 12 |14 | 16 | 19 | 20 | 23 | 24 | 27 | 28 | 31 | 32 [355] 40 | 39 | 40
|
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Time allowed: 2:35 Hours

CHEMISTRY HSSC-

Total Marks Sections B and C: 68

NOTE: Answer any FOURTEEN parts from Section ‘B’ and attempt any TWO questions from Section ‘C’ on
the separately provided answer book. Write your answers neatly and legibly.

SECTION ~ B (Marks 42)

Q.2 Answer any FOURTEEN parts from the following. All parts carry equal marks. (14 x 3 = 42)

(i

The percentage yield of the given reaction is 80% 247+ 3Cl, — 24ICl, How many grams of AICI, will be
.actually obtained from 3.70 moles of Aluminium metal?

Discuss the given reiationship with formula:

(a) - Energy and wavelength {b) Frequency and wavelength

How are Bohr's defects partially covered by dual nature of electron and Heisenbug’s uncertainty
principle? ,

Methane, Ammonia and Water are 4B, type molecules but they have different molecular geometries.
Give reason with their structures.

Unit cell is primarily concerned with the shape of crystal. Calculate number of c/-ions and Na* ions in
unit cell of NaCI

(vi) - - Calculate the density of methane gas at temperature of 373k when confined by a pressure of 2.105 atm .
(vii) How is kinetic molecular theory applied in the explanation of:
(a) Velocity of molecules- (b) Diffusion of gases
(viii)  Practically explain the effect of decrease of pressure on boiling point by using example of glycerine.
(ix) Water shows different behaviour as compared to other liquids. Interpret the anomalous behaviour of
water.
(x) How can liquid crystals be differentiated from pure liquids and crystalline solids? (write on point each)
(xi) Describe the term “Allotropy” with special reference to the allotropes of Sulphur.
(xii) When 1.8¢ of glucose is burned in calorimeter in the presence of oxygen at pressure of 25am at 25°C.
The temperature of water rises to 31.52°C . Heat capacity of calorimeter=4.3124JK ™' . Calculate the heat
of combustion of the glucose.
(xiiiy  Common ion effect operates best in the purification of xcio, and purification of NacI . Justify with
chemical reaction in each case. :
(xiv)  Consider the following gas phase reaction SO, +Ci, = SO,Cl, + Heat write three changes that would
‘ derive the equation to the product side.
(xv) Briefly explain the effect of catalyst on activation energy by representing with energy diagram.
(xvi)  Forreaction, NO,+CO - NO+C0O, Rate =K [NOZ]2 propose the mechanism for the reaction with the rate
equation and identify the rate determining step.
(xvii)  Why a solution has lower vapour pressure than a pure solvent? Describe on a particle basis.
(xviii)  Briefly describe the factors affecting the London Dispersion forces.
(xix)  Using the following data. Calculate the enthalpy of combustion of ethanol (C,H,0H)
AH’f for C,H,OH =-277.0kJmol™
AH [ for CO, =—-393.5kJmol™
AH°f for H,0 =-285.5k)mol™
" (xx) ‘Balance the given redox reaction by oxidation number method.  Cu+ H,50, — CuSO, + SO, + H,0
SECTION — C (Marks 26)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x13 = 26)
Q3 a What is hybridization? Why is there a need of this concept? Explain the structure of Ethyne (CH =CH)
molecule on the basis of hybridization.
b. The general gas equation PV =#RT is not applicable to real gases. Derive an equation that will be
followed by real gases. (Vander Wall's equation)
Q.4 a What are Buffer solutions? Elaborate buffer action in acid-base reaction with suitable example. Write
two applications of buffer solutions on industrial scale.
b. What is the effect of temperature on solubility? How the variation of solubility related with temperature
predicted by the heat of solution? Give example. Draw with the graph of solubility curve as well .
Q.5 a What are fuel cells? Explain the construction and working of hydrogen-oxygen fuel cells with chemical
. reaction.
b. How much (~H,Cl) Ammonium chloride will be formed by mixing 120g of Ammonium nitrate with a solution
of 52g of NaCI? NH NO, + NaCl — NH ,CI + NaNO,
SUPPLEMENTARY TABLE :
Atomic No 1 2 (3 (4 |s]le] 78 ]9 w[n]Ju2]Bd]lualis]ie]17]18]19]2
Symbol H He | Li Be B C N (0] F Ne | Na | Mg | Al Si P S Cl Ar K Ca
Mass No 1 4 [ 719 1|12 14]161 1912023 2427|2871} 31| 32]355]| 40/ 39| 40

—— 1HA-I1 2309 —
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.| | Question A B C D Al B ]| c ]| bp]
| | |
» The bicuspid and tricuspid valves of the {Ventricular  {Ventricular . Atrial
- = heart close during: Diastole Systole Atrial Systole Diastole O O O O
: . . Cytotoxic Helper T B .
- The component of second line of defense {Natural killer
. 2 in the following is: ' cell lymphocyte ‘lymphocyte lymphocyte O O O O
cell cell celi
Which of the following acts as cell identity
] 3 markers or name tags just like the sign board | Nucleoproteins |Nucleic Acid {Lipoproteins | Glycolipids O O O O
of shops? :
' It
N CH,-0-C-CH,, this molecule is an|Aldehyde Ketone Ester Ether O O O O
- example of:
- Human liver cells are specialized for the _
5. detoxification process, because they have|Peroxisome {Lysosome Ribosome Glyoxisome O O O O
- abundant number of:
. Which of the fo|lowing ratio is incorrect :
6. explanation of Chargaff's rule? T:A=1 C.T=1 AT=1 G:C=1 O O O O
m
- They catalyze the breakdown of specific
7. covalent bonds and removal of groups|Lyases Ligases Transferases {Hydrolases O O O O
. without hydrolysis.
. Cytochrome [P Fdlpq PC —> PS-|
The correct pathway of electron flow during | Complex — : Cytochrome |— Fd—
C | 8 non-cyclic photophosphorylation is: PQ—PC— gzt:‘;?;:"_f Complex— | Cytochrome O O O O
PS-| PC PC — PS-l  {Complex
- Which Hepatitis spreads due to poor - - - - '
N 9.. sanitation and hygiene? Hepatitis C  |Hepatitis D  {Hepatitis A | Hepatitis B O O O O
|
a0 Page 1 0f 2 i ‘mf




Question A B c D AlBlc]|oD
The non-nucleated thick walled cell found
10. in the trichome of Nostoc, associated with |Haustoria Sarcinae Nematocyst |Heterocyst O O
~nitrogen fixation is called:
Algae have [Algae have jAlgae have |Algae have
multicellular  junicellular multicellular  junicellular
. . . sex organ sex organ sex organ sex organ
?
11. Algae differs from plants in which respect? |~ zygote is |and their but no but zygote is O O
well zygote is not |embryo is well
protected protected formed protected
Trimerous .
The property of dicot plants in the following {Fibrous root icalyx and W°°.d Leaves with
12, . . forming parallel O O
is: system . {corollain abilit veination
flower y
The locomotory organ parapodia and setae . : . ‘
13. are present on the body of: - iAnnellids Echinoderms {Nematods Mullusks O O
Which one of the following DOES NOT . Radiat Blastopore-
14. pertain to deuterostomes? Enterocoelom |Echinoderms iCleavage Mouth O O
- . {Cell shrinks
15 What happen to a cell when it is placed in due to Cell gets Cell gets Cell gets O O
. : e : .
a hypotonic solution? EXOSMOSIS flaccid turgid plasmolysgd
16 All of the following are secondary {Vascular Apical Intercalary Cork O ' O
" meristems EXCEPT: Cambium Meristem Meristem Cambium :
These cells are associated with lowering of {Zymogen . .
17. pH in the stomach, Cells Chief Cells  |Goblet Cells {Parietal Cells O O
—~—1HA-11 2310-3103 —
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Time allowed: 2:35 Hours

co . ,2)
BIOLOGY HSSC-I

Total Marks Sections B and C: 68

NOTE:

Answer any fourteen parts forms Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3
Q.4

Q.5

SECTION — B (Marks 42)

Attempt any FOURTEEN parts from the following. All parts carry equal marks. (14 x 3 =42)

(i)

(i)

(i)

(iv)

(vi)
(vii)
(viii)

(ix)

™

(xi)
(xii)

(xiii)

(xiv)

(xvi)
(xvi)
(xviii)
(Xix)

(xx)

_ Why are lysosomes called autophagosomes?

Differentiate microtubules and intermediate filaments in term of diameter, protein type and function in the
cel. '

Stereoisomers are isomers that differ in their H and OH group orientation.
a. What are enantiomers? Rate [

b. Draw the structure of D and L-glucoses

Explain the given graph. Substrate Conc
Give any three carbohydrate digesting enzymes with their substrate and product. Q.No.2 (iv)
Write down any three differences between cyclic and non-cyclic photophosphorylation.

Classify viruses on the basis of their genome. -

How slime layer and capsule increase the disease causing ability of bacteria?

Normal bacterial flora in human body is a blessing. Explain briefly.

Why plants and green algae are considered monophyletic?

Summarize the evolution of many veined leaf in plants.

Give any three differences between cartilaginous and bony fishes.

. State the adaptation in plants to cope with high temperature stress.

(a) What is ascent of sap?

‘(b) Enlist the forces that are responsible for ascent of sap in plants.

Basidiomycota is a class in Fungi:

(a) Why is Basidiomycota called club fungi?

(b) Write any two differences between Basidiomycota and Ascomycota.
Demonstrate the swallowing reflex in human.

What major functions are performed by large intestine?

Draw the pulmonary circuit circulation.

Outline the e_vents of inflammatory responses in case a pin has broken the skin.

State the natural and artificial active immunity.

SECTION - C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2 x 13 = 26)

o 8 T T 9

Describe the structural components and roles of lymphatic system in human.

How is six carbon sugar converted into two molecules of 3-C compounds? Explain. Also draw diagram.
How is organic food translocated in vascular plants? Explain. Also draw diagram.

Write down the general characteristics and different sub-classes of Mammalia.

Explain the life cycle of flowering plant showing its Diploid and Haploid stages. Also draw diagram.

Justify the significance of amino acid sequence in proteins, tak'ing the example of sickle cell anaemia.

o {HAI 2310 —
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’ | Question A By C D Al B |c | D]
| : . '
If a function f: A— B is such that Range . One-one . |Bijective .
-1. 7% B then f is called an: Into function | &2 Onto function |¢ s O O O O
. » | . .
2. The simplified form of (~1)2 -1 1 i ~i O O O O
u .
Which of the following represents the contraj _ - - _ _
!' positive of P —>¢? po~q q>p p—q q—>p O O O O
B
detA=5 i ? '
.. If de ,what is the value of der (154) 75 295 375 1125 O O O O
~ (where order of A is2x2 )
u
o For what value of £ if lk:3 k_+13 =0? |+] o) 13 +4 O O O O
. If the roots of the equation px’ +gx+r=0
i~ are multiplicative inverse of each other then| ? =¥ P=9 q=r prqg=r O O O O
which condition holds? 4
. Let f(x) be a polynomial of degree three
-7. such that f(0)=f()=s(2)=0 then|x’ +3x+2x | -3x*+2x|¥-3x-2x(X+3x*-2x| O O O O
S(0)=? '
L 2 e A T then) g | 42181 |A=1B=2 |A=1B=
. CG-D(x+2) (x-1) (x+2) =,B=-1{A=1,B=1 {4A=1,B=2 =B=2 1 O O O O
] What are the values of A and B? '
If A.M and G.M between » and b are equal '
. then (a—b)* is equal to: ' 2ab 0 Jab 4ab o O O O
| .
_ What is the sum of infinite Geometric series ‘ i
B 5w | 14-2 4+2 4+22 4-22 O O O O
B v
In how many ways can 7 persons be seated |
' 1. at a round table?y P 60 120 720 5040 O O O O
|
ﬁ Page 1 of 2 I 0
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| | Question A B C D .
The sum of the odd coefficients in the
12 7 16 32 64 128
~ """ expansion of (1+x) is: O n
The first three terms in the expansion ) : ) - _ .
13. 1 SN, I SV § RS PrPe-S- g DT PO S
(1-x)2 are: 2 8 27 8 278 2 8 O |
1 o S
If tand =—= and 0 lies in 3 quadrant.| 3 B 1 1
a ¥ 7 b g O,
What is the value of sinf ? |
15. sin(€+%)+cos(0+§)= Cosé Sin& Secd Cotd O n
' . ) y<-1 or -
16. The range of the function y =cotx is: -1<y<1 s R R—{nm,neZ} O [ |
|
The circum-centre of a circle is the point of : . Angle Right
17. intersection of: Medians Altitudes bisectors bisectors O ' .
3 B .
. al V3 1 3 1 1
18. The value of sin| cos™| —— || is equal to: | —= = - -
. 1 |
The solution of cotf@ =—= is equal to:| 7 4r T 27 Y 4 7z Wz
° B 33 133 |ss  |ss O
0 e[0,27] 3 6 6 6 |
20. Cos(2sinx) is equal to: 1424 1-2x? 2 -1 -2 O

j
—1HA-I 2311-3111 —
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. | ) o
MATHEMATICS HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:

Attempt any twelve parts from Section ‘B’ and any four questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

Q.2

SECTION — B (Marks 48)

Attempt any TWELVE parts. All parts carry equal marks. ‘ (12 x4=48 )
. o . . _ . _ . 212_3 . .
(i) If Z,=2+i,Z,=3+2iand Z, =2+3i then express in the form of a+bi .
. _ S , ,
(i) Show that the set {l,m, wz} (where @’ =1) is an abelian group with respect to ordinary multiplication.

Note:
Q.3

Q.4

Q5

Q.8

(iii) Construct the Truth table to show ~ (p — q) <> (pA ~ q) is a Tautology.
(iv)  Use synthetic Division to find the values of S* and ‘T” if (x-1)and (x+2)are the factors of the polynomial.
X =Sy’ +Tx+6. ‘
x* +15

v) Resolve into partial fractions.
v (x2+2x+5)(x—-2) P

. . . 2 3 2 21 4
(vi) - Solve the equation for X for 3X+24=B if A= and B=
-1 2 5 322

1
(i)  If A=|1+i| find A(4).
i
(viiy  If a=1-x+x"—x’+... where|x| <1, h=1+x+x"+x’ +.... where|x| < 1then show that 2ab=a+b

(ix) ~ Find the number of 5 digit numbers that can be formed from the digits 1,3,4,5,7 (when no digits repeated)
(a) The digits 3 and 7 are next to each other
(b) The digits 3 and 7 are not next to each other

-1

(x) Expand (8 —3x)7 upto four terms.

2 . . . . 0 —sec’
(xi) If tand =—= and terminal arm angle is not in 3" quadrant. Find the value of cosec'0 - sec 0

NG
c0s14°+sin14°
cos14°—sin14°

(xiii) Prove thatsin @ is a periodic function and its period is 27 .
(xiv)  Showthat s = 4Rsin%cos§cos 22/-

cosec’d +sec” @

(xii) Prove that an59°.

1 1 7«
v Prove that 2tan™ —+tan™ — ==
(xv) 3 =

(xvi) Find the solution set of the trigonometric equation sin7x —sin x =sin3x

SECTION — C (Marks 32)
Attempt any FOUR questions. All questions carry equal marks. (4x8=32)

Solve the system of linear equations by using their augmented matrix to reduced Echelon form
2x+5y—-z=5; 3x+4y+2z=11; x+2y-2z=-3
a 3-4

If « and B are the roots of 2x* +3x~5=0, then form the quadratic equation whose roots are 3-a3-p

342’3+

1(4) 13 (4Y 13.5(4Y

For p==| =1+ J=1 + —1| +.... Showthat 5p* +10p—4=0
P 2(9) 221 [9) .233!(9) PP

If the numbers %’%’515 are subtracted from three consecutive term of a G.P, the resulting numbers are in H.P. Find
the numbers if their product is 51,; .

Prove that sin—sin 2 sin Zsin i = 3
9 9 3 9 .16
1 11 1
(a) Show that — = — +— 4+ —
2kFR ab be ca

(b) The area of triangle is 121.34 if & =32°15', #=65°37', then find ¢ and angle y .
—1HA-Il 2311 —
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| ] Question A B C D AlBs]c ||
The software embedded in electronici . :
L gevices is called: Firmware Freeware Shareware {Opensource | O O O O
Which of the following registers stores the . Counter Accumulator :
2 result of ALU operation? MAR Data register register register O O O O
. The instructions needed at the time of .
3 starting the computer are stored in: RAM Cache ROM Hard disk O O 4 O O
’ : 88 KB is 700 MBis  |1TBis 350 bytes is
4. Identify the correct one: larger than 28 ilarger than 30 | smaller than |{smaller than O O O O
MB GB 8 GB 5 MB
. ' . Magnetic dptical Static
5. Flash memory is an example of: Chip memory memory memory memory O O O O
Which of the following is an example of CISC . SUN'S '
6. architecture? Power PC |Intel 486 Mobile phone | oo p o~ O O O O
Which of the following memory chips was
7. used in early computers? DIMM SIMM DRAM SRAM O O O O
The IP address 192.168.123.44 is an T
8. example of following type of network class: Class A Class B Class C Class D O O ' O O :
Which of the following communication media . . . . ' '
9. uses light waves for transmitting{STP Twisted pair | 5vial cable | 18" OPtC O O O O
. h cable cable
information? .
~ Identify the most suitable network topology Mesh -
10." to establish a network .atacollege Computer| Star topology {Bus topology |Ring topology topology O O O O -
lab with 30 computers: .
Which device allows wireless devices to ‘Radio .
11. connect to a wired network using Wi-Fi? NIC transceiver Repeater Access point O O O O
The relationship betwe tities STUDENT . .
12. ang COURnSSE'ir; : etween enti Unary Binary Ternary Recursive O O O O
13. \r,e\z,::g'\]/e doifn ;r'\\JeF?followmg dependency is|p, ) Associative |Transitive  |Functional O O O O
Which of the following database objects |
14. shows results in a presentable way: Table Form Query Report O O O O
15, In MS-Access, a Form is a collection of Files Controls Views Properties O O O O
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Time allowed: 2:40 Hours

2)-

COMPUTER SCIENCE HSSC-!

Total Marks Sections B and C: 60

NOTE: The Questions of sections B and C are to be answered on the separately provided answer book.
Write your answers neatly and legibly.
SECTION - B (Marks 36)
Q.2 Answer any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) How is supercomputer different from microcomputer? Justify your answer with at least three reasons.
(i) What is a scanner? Write down any one application of the following scanner types:
(@) Handheld (b) Flatbed
(iii) Why is LCD better than CRT? Support your answer with at least three reasons.
(iv) What is a port? Briefly explain the purpose of any two types of ports.
(v) Complete the following table by identifying registers as General or Special purpose. Also write down
their use:
Register General/Special Purpose | Use
Base Register
Program Counter
Instruction Register
(vi) Why do computers have expansion slots? Name the most common expansion slot. Give reason to
support your answer.
(vii) Wirite down three differences between PROM and EPROM.
(vil)  How is data bus different form address bus? Give three reasons.
(ix) Write down any three differences between Circuit Switching and Packet Switching Networks
(x) How is SATA ribbon cable interface better than IDE? Support your answer with at least three reasons.
(xi) Give any three advantages of wireless network.
(xii)  Write down the purpose and distance from the earth of the following satellites:
Satellite Purpose Distance from the earth
LEO
MEO
GEO *
(xiii)  Write down the suitable data types for the following fields in MS-Access:
Employee ID | Employee On Joining date | Gross Review
name leave pay (Rs) comments
100 Akbar No i 2-Dec-2014 63000 Employeeis a.....
101 Saima Yes 15-Jun-2016 57000 Employeeisa.....
102 Manan No 3-Aug-2018 51000 Employeeisa .....
(xiv)  Differentiate ‘Entity’ and ‘Attribute’ with one example of each.
(xv) How are queries useful in database? Give any three reasons.
(xvi)  Students enroll in different courses and each course is registered by multiple students. Draw an ER
diagram that shows cardinality and modality for the said situation.
SECTION - C (Marks 24)
Note: Attempt any TWO questions. All questions carry equal marks. (2x12 = 24)
Q.3 '(a) Explain three instruction formats with one example of each.
(b) Explain the function of the following layers of OSI model in detail. Also write down the name of protocol
used at each layer.
Layer name Function Protocol
Data Link
Network
Session ,
Q.4 (a) Explain the following types of System Software with one example each.
i. Operating System
i. Utility Software
. Language Processor
(b) Explain any three features and any three requirements of Mobile communication system.
Q5 (a) Compare Star and Bus network topologies in terms of architecture, reliability, and expansion.

(b)

Explain any three differences between Magnetic and Optical storage media in detail.

— 1HA-I1 2312 —



STATISTICS HSSC-I
SECTION — A (Marks 17)

Time allowed: 25 Minutes
Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.

SN f L £ p Pt s (31 sinLsig S0
N AT ¢

Version No. ROLL NUMBER
3113 |1

®©@ © © © © @ © © © ©
OM JNONN _ O OBOBIONIONNO)
@ @ @ @ @ @ @ @ @ @
o ® 00 ® ® ® ® ® 6
@ e 6 6 @ @ ®© 0o 6 6
® ® ® ® ® ® ® ® ® 6
® ® ® ® ® ® ® ® ® ©
@@ 0 © 0 © 0 © © 0 @
.® ® ® ® ® ®
®@ ® ®© ® ®©@ © @ ®@ ® ©

Answer Sheet No.

Sy S LAES L L LUy, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

| | Question o A | B | ¢ : Do A]B]c]| D]

The branch of statisfics that is concernedi L . . .
. - - 'Descriptive Inferential ‘Theoretical :Applied ]

L i procgdures .for obtaining Va“d!statistics 'statistics ' statistics i statistics i O O O O
conclusions is called: . : : : '
) o . : slnvestigation
Issuing a national identity card is an example: ' s ' . ' '

2 ' ECensus iReglstratlon ESamphng Ethrough : O O O O
; ; : renumerators
The process of systematic arrangement ofé I . iFrequency

3 data into rows and columns is called: ECIassﬁicatlon ETabuIatlon 1distribution iArray O O O O

4. An Ogive is also called: Frequency  iFrequency Histogram | ronvony” | O O O O
‘ g : ipolygon icurve ; g jrred oo

; . . ipolygon : :

The modal letter(s) of the word!

5 “STATISTICS” isfare: ;S T ST LT | O- O O O
f X=10 and Y=2X+S, then: E i | E

6 3 110 115 120 125 O O O O

7 The sum of squared deviations from mean is! Negative sMaximum EMinimum E‘Zero O O O O
* always: : 9 ' '

8. Geometric Mean of 2,4,6,8,64 is: 7 17.55 116.8 8.5 O O O O
For normal distribution, approximately 68%; — b — —

9 ofthe values are included by an interval: : X+§ X£2§ . X£38 X x4 : o O O O

10. If Var(x)=2, then Var(3X +4) = 110 115 118 120 PO O O O
) . . . gLaspeyre’s ;Paasche‘s N EUn-weighted

11. Time reversal test is satisfied by: index index EFlsher s IndexE Index number O O O O

Page 1 of 2 |




| | Question Jr i A B c | o A B]c]|] D]
. I Zp,q EThe EThe E | E
The index number is given by —2x100 ! , ' , : The value ‘Wholesale |
12. Ip,q, .L?p eyre's P ?fiChe S lindex ‘price index ! O O O O
is called: Index iinde
13 The price relative is the percentage ratio of: Current year {Base year  :Current year 'Base year ! O O O O
“* current year price and: rquantity rquantity iprice iprice ;
in method of least square , the sum of errorsiLess than ! Greater than ‘Not equal to !
14 will be: 1zero 1zero iZero 1zero O O O O
15. The regression line always passes through: : (a,Y) L (5,Y) 1 (a,b) X, Y) O O O O
When two variables move in same direction,§ - . . ‘
16. e correlation will be: 5Posmve ENegatlve EZero ENeutral O O O O
‘A decline in death rate due to advancement; Seasonal ! Secular ECyclicaI ‘Random 5
17 of Science' is an example of: ‘variation ‘variation ‘variation 'variation O O O O
— 1HA-I1 2313 —
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STATISTICS HSSC

Time allowed: 2:35 Hours . : Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two Questions from Section ‘C’. Write your answers
neatly and legibly. Statistical table will be provided on demand.

SECTION ~ B (Marks 42)

Q.2  Attempt any FOURTEEN parts. All parts carry equal marks. (14 x 3 =42)
(i) Distinguish between primary and secondary data.
(i) Differentiate between discrete variable and continuous variable.
(i) Make class boundaries and find missing frequencies of the following frequency distribution.
Classes Frequency Cumulative frequency
0.7312-0.7313 5 5
0.7314 - 0.7315 7 ?
0.7316 — 0.7317 ? 22
0.7318 - 0.7319 ' ' 8 ?
0.7320 — 0.7321 ? 35
(iv) Calculate Arithmetic Mean from the following deviations.
[D=X-10 | -5 | 3 [T o [ 3 T 6 [ 8 [ 1 [ 13 |
(V) Calculate Geometric Mean and Harmonic Mean for five values of X for the following reciprocal values:
%: 02, 01, 005 004 0025
(vi) Calculate combined Arithmetic mean for the following two groups.
' Boys Girls
Number of Persons 20 30
Mean Weight (kg) 62.5 53.4

(vi)  What is meant by range and semi-interquartile range?
(viii)  Iflower Quartile (Q,) =40, upper quartile (Q,) =90 and Median=60, Compute Quartile Coefficient of

Skewness.
(ix) Given n =35, Xx =180, Zx* = 6660 . Compute variance, Standard deviation and Coefficient of variation.
(x) Differentiate between un-weighted and weighted index number.
(xi) Compute index number taking 2010 as base: :
Year 2010 2011 2012 2013 | 2014 2015
Price 10 14 15 20 25 .33

(xii) If Laspeyre’s index number is 150 and Fisher's index is 147, Calculate the Paasche’s index number.

(xiii)  Compute two regression coefficients b,and b,, of the following data:

.. n=10,ZD, =12,ID, =-52D,D, =390, £D,* = 2830, El)y2 =91

(xiv)  The two regression lines are ¥ =25+0.83X and X =40+0.97Y are given, identify the two regression
coefficients and compute the correlation coefficient (r). |

(xv)  Write down the properties of correlation coefficient (r).

(xvi)  if r,, =060, U = X_SO, =Y =50 then what is the value of t and r,, ?

(xvii)  Describe seasonal variation with examples in time series.

(xviiiy  If the least square line fitted to the data for the years 1960-65 (both inclusive) with the origin at the middle of
1962 and 1963 is ¥ =75+0.85X, the unit of X is being half year, then find the trend values for 1960 to 1965.

(xix)  Estimate the trend values by semi average method for 1970 to 1975.

Year Semi - Total Semi - Average
1970
1971 720 240
1972
1973
1974 990 330
1975

Page 1 of 2 (Statistics)



Note:

Q.3

Q.4

SECTION - C (Marks 26)

Attempt any TWO questions. All questions' carry equal marks. (2x13=26)
Find Arithmetic Mean, Median and Mode from the following data: (06)
Classes 10-14 - 15-19 20-24 25-29 30-34 35-39
Frequency 3 5 10 12 6 4
Calculate Coefficient of Skewness by Karl Pearson’s method. (07)
Marks 20-24 25-29 30-34 35-39° 40 - 44 45 - 49
Frequency 1 4 8 11 15 6
Construct chain indices using Geometric Mean as an average (08)
. Prices
Year
Wheat Rice Ghee
1990 120 30 20
1991 132 32 24
1992 140 38 30
1993 144 40 40
- 1994 150 45 50
Compute the consumer price index number by aggregative expenditure method {05)
item Quantity consumed Base year price Current year price
in base year (q,) (%) (R)
Rice 60 150 200
Wheat 80 35 _40
Pluses 10 120 150
Ghee 20 225 250
Sugar 15 100 110
Calculate regression line Y on X and Correlation Coefficient (r) form the following data (06)
X 10 9 8 7 6 4 3
Y '8 12 7 10 8 9 6
Smooth the variation of following data with the help of 4-years centered moving average method. (07)
Year 2008 | 2009 | 2010 | 2011 2012 2013 2014 | 2015
Profit (in Rs. 000) 100 120 150 160 190 210 350 415
—— 1HA-}1 2313 —
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Answer Sheet No.

Sy fomeendb LS L s LYy InVigilator Sign.

Fill the relevant bubble against each question according to curriculum:  Candidate Sign.

| | uestion . A | B | ¢ { b +A]B]|]c]|[ D]
Who declared Economics as “Science of: i i : E
"2 P : ith {Robbi : :
1 Wealth"? ) :Plogu :Adafn Smith :Robbms :J.M. Keynes : O O O O
Sebod) ‘H‘K_“)»'fc:«.t_ﬁb/i_g/: :é,. el VAU Lz '
| | | iNon- |
All material goods which can satisfy human; EEconomic Eeconomic
. Wwants are called: i Capital goods ! Free goods :goods ‘goods ‘ O O O O
g UGSl QU AT | FrNSS e PRI ;
Law of diminishing marginal utility providesi iLaw of §Law of }Laws of
basis for: Law of supply : demands 'substitution  ireturns '
3. " o 1 1 1 ' . ;
e b, P it 2 096} a6 8P e (Sl : O o O O
. Identify functional equation of supply: EQ+4P—2=03 0=25-3P 5Q=—2P+50 E3P—Q=27 O O O O
_u:/d‘ifj(!c,bl/&@(fyli E 5 E E
The process of arranging data in rows andi iCompIex
columns is k as: i Classification | Index number : Tabulation table '
s u ‘ no:Nn ) | ificatio : ‘ er: ulati : : O O O O
e b UYL S B U pre P P i $o1 i Szl el §AH aiwe ey :
If price of product falls by 10% and its:
demand rises by 30%, the elasticity of! ! : ' !
demand will be: : ' ' ; '
6. ) ) . 110% 130% 13 173 ‘ _
S stad30t e 100t 8 20! ° 5 ° 5 ; 5 o O O O
o f s ; § f
Elasticity of demand along with horizontal; : 'Greater than !
demand curve is equal to: 1Zero Infinity ‘Unity runity ;
7 -‘4.8:1' EVLJL;(}’I._,?;‘&'JJ i/‘ ;»»’U g/,l/.LJKI iuL)c..(jb’l é O O O O
When the price of a product goes up, its; ' : : :
quantity supplied also goes up, what is it: Expansion of :Contraction of:
called? 'supply supply ‘Rise in supply:Fall in supply !
8. : , i . '
véw@a;z_wuru:mfic—_az.-,a{c‘._,,aEw;{,w s Lo yars el : o O O O
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| Question Jr it A B | C ; D Al B ] c| |
For which factor, geographical mobility is ! i 5 5 : _
NOT possible: ‘Land ‘Labour i Capital ‘Organization !
9. . - ) : : : D :
BN BN ATEA PN VS et s 1o 5 © 0 00
éShare of éBill of
An example of circulating capital is: Prize bond  company exchange Raw material |
10. . . S ) ) H
te YU A Sy, LS S e : © O O O
Law of diminishing return s mostlyf :
1. applicable on: B elndustry EAgncuIture EConstructlon ETrade ; O O O O
S b IS O 06 | o oy et L ;
When Total Product (TP) falis, Marginali
12. Product (MP_) is: o iZero EPosmve EFa}Inng EI\.J.egatlve f O O O O
¢ S MPY s T ORI S | 2 Led te Gns) s :
!International ! Regional ! ' Domestic !
13, Refrigerator” market is called: Emark?t Emar}(et ELocal market Emar.ket O O O O
IRV IFAT STy o FRTF 2 1T DY Ly ot ;
14, Under perfect competition: EAR=MR EAR>MR gAR<MR ;MR=0 O O O O
1s. Long run cost curves are: ' ; V-shaped 5 U-shaped EDISI’: shaped EL shaped ; O O O O
.2 WP L Shw el P Py L PUS P |
One of the following is an example of§ EPakistan iPakistan StateiCommerciaI
monopoly: Motor Ways :Railways Hell yBank H
16. ; ' : . ' L H
e Jedbls e et sty Lkt ezl 1 8JS : 0O 0 0 0O
The purchasing power of money along with 1 :
the fringe benefits for a labour will ; '  Nominal ' :
determine his/her: ' Real wage | Gross wage :wage i Net wage ! O O O O
17. ; . . . ;
UJL’;/(U:’} Lﬁ?{;;{fn)]uu;]'o;(;/} E oy E =2k E =240 E oihfjﬁ E
Who presented the “Classical Theory of
Rent"? ' Malthus ' Pigou i Ricardo : Marshall .
18. . b ! ‘ - '
WS Ul Sy e VL Ny et ' O O O O
The reward of the use of capital is called: ; Wages E Rent i Interest i Profit 5
19. 1 i : I H
?ﬁ;blhfgé)vgdb:‘léé_h/ 5 = 2l E ud i Iy E 1% ; O O O O
Which one of the following CANNOT be ' iRaw . éHuman
stored: : Potato ' material i Machines ' labour :
20.. s s ! : R D :
?anuf'a/.?;’(u/a.uﬁ.)eu: S’ syl LR v el ! O O O O
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Time allowed: 2:35 Hours

ECONOMICS HSSC-I

2b

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and iegibly.
SECTION - B (Marks 50)
Q.2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
() Why Economic problem arises? Briefly explain.
(i) " What is meant by utility?
iii) Write down any three characteristics of an indifference curve.
(iv) Whét is meant by production of wealth?
(V) Briefly explain qualitative classification of data.
(vi) Point out the symbols of equation.
{vii) Write down the meaning of demand.
(viiiy  When demand rises and supply falls in equal proportion, what will be its effect on equilibrium price and
output? Make a graph.
(ix) With the help of following table calculate the price elasticity of demand:
Price (P) 2 5
Quantity Demand (Q) 50 40
{x) Differentiate between supply and stock.
(xi) What is market price?
(xii) What is meant by partnership?
(xiii)  Write down any three advantages of small scale production.
(xiv)  Enlist any three kinds of monopoly.
(xv) Differentiate between Total Fixed Cost (TFC) and Total Variable Cost (TVC).
(xvi)  What is meant by financial economies?
(xviiy  Write the equilibrium conditions of a firm.
(xviii)y What is meant by wages?
(xix)  Briefly explain the concept of zero rate of interest.
(xx)  What is vertical mobility of labour?
(xxi) - What is meant by net profit?
b. Attempt any ONE part. v {(1x 5 = 5)
(i Calcuiate the total revenue, average revenue, and marginal revenue form the following table:
Output (Q) 1 2 3 4 5 6 7
Price (P) 10 9 8 7 6 5 4
(ii) Write down any five principles of tabulation.
SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10=30)
Q.3  Explain the law of diminishing marginal utility with the help of table and diagram.
Q.4  Whatis meant by elasticity of demand? Describe its practical importance.
Q.5  Explain “Firm’s Equilibrium” in short run under perfect competition.
Q.6  Critically evaluate the Ricardia‘n theory of rent.

— 1HA-ll 2314~
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B Sy It LIS L oLy 1 InVigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
F|Question o A ¢ B i € 1 0 iA]|B]c][D]
. A form of remuneration for services rendered Discount §Discount .
i by one person to another is called: rallowed ireceived iCommlssmn ilnterest o O O O
. . . . | Assets — ‘Revenue + 'Revenue — 'Revenue —
; Net income is equal to: iLiabilities ~ ‘Expenses  |Expenses  !Income ; o O O O
. . . iGoing P : : —
According to which concept, business and: :Business : 1Realization
! owner both have separate identity? ;ﬁg:ggg: ientity concept Cost concept rconcept” O O O O
- When cash is paid to creditors. It willi : :
[ | decrease: i Cash | Capital | Debtors ! Expense f O O O O
Assets. and iRevenue, iAssets, iExpenses,
- Debit the decrease in: | expenses {capital and {capital and icapital and ! O O O O
: liabilities liabilities diabilities :
. . . . ! Discount i iCash ' Discount :
Discount received from Mr. Ali should be: ! ' ' '
6. ; ) : ‘received 'Ali account  !discount :allowed O O O O
. debited to: : ) : ' :
‘ raccount : raccount raccount '
7. “T" account is the simplest form of a: EJournal éLedger §Trial Balance iFinal Account O O O O
In case of term bill the extra three days are§ §Days of §Days of
! given to acceptor are called: EGrace days itenure ETrade days rmaturity ; O O O O
Bl When drawer discounts a bill, he debits:  {Banksa/c  {Interestalc iDrawee’s alc S/'g recelvablei O O O O
When the bill is dishonoured acceptor’sf : i f :
B accountis debited in the books of the: Bank {Endorsee ;Drawee j Drawer : o O O O
. The document sent to customer when heéPromissory . §Currency .
-11' returns the goods is called: inote ;Deb't note inote ;Cmd't note : O O O O
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| Question Jir | A } B8 5 c 5 D A | B | c|oD
Assets which have no market value arefWasting ' Fictitious Elntangible ETangible 5

12 Called: Jassets 1assets 1assets 1assets : O O O O
Expenses related to sales of goods arei . iProﬁt or loss iBalance

13. oo in: ETradlng alc ESales alc alc sheet O O O O
A gradual decrease in the value of fixed: . E . E o . E

18, cots is called: EReductlon ERevaIuatlon EDeprecnatlon EFIuctuatton O O O O

15 All those expenses which have become dueiAccrued §Prepaid EOutstanding iAdvance O O O O
" but not paid are called: yrevenue expenses rexpenses yexpenses '

1. Expenditure which helps to maintain the:Revenue ' Deferred ' Capital 'Capitalized ! O O O ' O
" business efficiency is called: rexpenditure :expenditure :expenditure expenditure

Income and :

- . . : . iProfit or loss | . :Balance '

17. Capitalized expenditures are shown in: ETradlng alc {alc Eg;(gendlture | sheet O O O O
5 f L ‘Have effect |
. . . . 1Overstate the {Understate  ;Have effect !

18. If any income omitted to be recorded, it will: profit the profi o proft s;)rr:et;azlance O O O O
The term imprest system is used in relation: 'Pay-in-slip ! 'Petty cash !

19. . ECheque book ' book ECash book 'book O O O O
Ahmad’'s cheque endorsed to Akbar should! : ,

20. |0 debited fo: - ECash alc sBank alc sAkbar alc EAhmad salc | O O O O
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28
" PRINCIPLES OF ACCOUNTING HSSC-I

Time allowed:  2:35 Hours Total Marks Sections B and C: 80

NOTE: Sections ‘B’ and ‘C’ comprise pages 1-2. Answer any ten parts from Section ‘B’, any one question from
Section ‘C (Part-l)’ and three questions from Section ‘C (Part-Il)’ on the separately provided answer book.
Write your answers neatly and legibly.

SECTION — B (Marks 30)

Q.2  Attempt any TEN parts. The answer to each part shouid not exceed 3 to 4 lines. (10 x 3 = 30)

0]
(i)
i)
(iv)
V)
(vi)
{vii)
(viii)
(ix)
(x)
(i)
(xii)

What is meant by Rebate?

Briefly explain promissory note.

Describe ‘dishonour of bill’.

What are the rules of debit and credit for assets, capital and expenses?
Differentiate between ‘Simple entry’ and ‘Compound entry'.

What is full disclosure convention?

Differentiate between ‘Quantitative changes' and ‘Qualitative changes'.
What are the normal balances for assets, liabilities, capital, revenue and expenses?
What is understood by ‘subsidiary books'?

What is meant by ‘wasting assets'?

Differentiate between ‘outstanding expense’ and ‘prepaid expense’.

What is deferred revenue expenditure?
SECTION — C (Marks 50)
(PART -1)

Attempt any ONE question. {1 x 20 = 20)

Q.3 Following is the trail balance of Ahmad & Co on 31% December 2018. Prepare trading and profit and loss account of
the business for the year ending 31 December 2018 and a balance sheet as at that date:

Particulars Dr. Rs. Cr. Rs.
Opening stock 10,000
Purchases and sales 40,000 1,00,000
Sundry debtors and creditors 30,000 8,125
Plant and Machinery 35,000
Freehold premises 24,000
Salaries 5,000
Wages 6,575
Carriage outward 375
Printing and stationary 400
Bad debts 500
Provision for bad debts 225
Trade expenses 750
Cash in hand : 5,250
Capital 50,000
Insurance 500

168,350 158,350

Adjustments:

a.
b.
c.
d.

Wages payable Rs.500.

Bad debts provision to be adjusted to 2% on debtors.
Allow interest on capital at 5%.

Closing stock value at Rs.15,000.

Q.4  From the under mentioned information write up a three column cash book at the end of the month:

March 2018 01 Cash in hand Rs.480,000 and bank overdraft Rs.12,000

05 Received two cheques (a) from Noman Rs.60,000 (b) from Ali Rs.80,000

06 Ali's cheque deposited into bank

08 Purchased goods for cash Rs.30,000 and from Sohail Rs.20,000 at 10% trade discount

12 Received form Nasir cash Rs.10,000 and a cheque Rs.25,000 and deposited the
cheque into the bank

15  Withdrawn from the bank Rs.60,000 and paid rent Rs.25,000 and salary Rs.35000

18 Purchased a motor car for Rs.180,000

20 Paid Noman's cheque to Rameez in full settlement of his dues for Rs.62,000

22 Received a cross cheque form Pasha for Rs.21,500 and discount allowed Rs.500

25 Sold goods to hassan for Rs.60,000

26 Deposited into bank Rs.10,000

28 Bank charged for commission Rs.1500

31 Paid salary for Rs.18000

Page 1 of 2 (Pr. of Accounting)



Note:
Q.5

Q.6

Q.7

Q.8

(PART - 1I)

Attempt any THREE questions. (3x10=30)

On 30% June 2018, the cash book of Mr. Aslam showed as overdraft balance of Rs.16,000. This balance
did not agree with the balance as per passbook. On comparing the two books, the following discrepancies

were noted. Prepare a bank reconciliation statement.

Transactions during the month of June are as follows:

1.

4.
5.
6.

On 26t June, cheques were issued in favour of creditors for Rs.19,000 but out of them two
cheques for Rs.14,000 were uncashed on 3™ July.

Rs.60,000 worth of cheques were sent for collection and only Rs.28,000 worth of cheques were
collected upto 30t June.

An amount of Rs.800 for interest on overdraft was entered in passbook but was intimated to Mr.
Aslam on 2 July.

A cheque for Rs.5,000 entered in cash book (debit side) was not .sent to the bank for collection.
Discount received for Rs.500 was entered in the cash column erroneously.

A cheque for Rs.2,000 entered in cash book (debit side) in bank column as Rs.20,000.

Prepare accounting equation on the basis of the following:

1.

© ©® N o g~ DN

—
©

Mr.Ferooz Started business with cash Rs.250,000, goods Rs.80,000, machinery Rs.110,000 and
building Rs.8,00,000.

He purchased goods worth Rs.50,000 for cash and goods worth Rs.30,000 on credit.
He sold goods to Kashif for Rs.40,000, costing Rs.32,000.

He purchased refrigerator for personal use. Rs.25,000.

He paid salary Rs.28,000 and salary outstanding Rs.12,000.

He made additional investment in cash Rs.80,000.

Rent received in advance Rs.12,000.

Goods returned by Kashif for Rs.6,000, costing Rs.5,600.

Paid telephone bill by cheque for Rs.8,000. .

Cash paid to creditor Rs.20,000.

Pass entries for rectification of errors given below:

1.

o > 0w b

Legal expenses Rs.8,000 paid to lawyer have been wrongly debited to his personal account
Wages paid Rs.5,000 wrongly debited to custom duty.

Trade expenses of Rs.180 posted in the ledger as Rs.810.

A sale of Rs.14,000 to Ali was wrongly debited to the account of Zahid.

Sales return book was overcast by Rs.10,000.

Record the following transitions in the Journal, post in the ledger and prepare a trial batance:

‘March 2018 01. Mr. Zaheer started business with Rs.680,000 cash, machinery worth Rs.21 0,000 and

stock worth Rs.80,000.
02. Deposited into bank Rs.85,000.
05. Bought goods for cash Rs.35,000 and from Noor & Co. for Rs.24,000.
09 Sold goods for cash Rs.120,000 and to Tahir & Co. for Rs.80,000.
15. Bank charges made by cheque Rs.350.

20. Issued a cheque to Noor & Co. of Rs.22,600 in full settlement of his account.
25. Received cash from Tahir & Co. in full settlement at 3% cash discount.
— 1HA-I 2315 —
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| Question . A | B I € i D A [ B[ c | D]
Which of the following issue is related to:Consumer :lntematlonal iDetermmatnon
Macroeconomics? 1behavior itrade iFirm behavior : of price O O O O
?%L&PVJyKJLJJ’Vaicjé 26 ile i.:u_lf"dl;lll‘f i;_,uf(/. ;ud(o»’:
EMarginaI
utility is iMarginal utility : Marginal P
, igreater than |is less than 'utlhty is equal  Total utility is
A consumer is in equilibrium when: 1price :price ito price tequal to price | () O O O
:..—zg_t'xufuil?dmﬂd/uu( m:y_la.:»_":uﬁl'(‘; fc...»’ulsl("f IM/J/,L;“E”G'F‘{ )f/‘/Lu"vb'J

iAverage cost |

.mllsllllllllll'IlllllwllI"IIIIIIIIIIII‘-

'Total costis !Average cost !is greater  :Average cost
;e‘qual to lis equalto  ithan marginal iis less than
When average cost is at its minimum: 1average cost imarginal cost ;cost imarginal cost : O O O O
LS SAw bt A et e S T Skt ket F"‘_s;ww ;
sl EZ_ sl der L slie Jhe 'u'!a_.n[ oA
5 ' L E E
‘Average iMarginal i : ;
Which of the following is often called the:revenue revenue i Total revenue T tal cost
demand curve? ‘curve icurve curve rcurve !
?'Lt‘lgl{JB/,J)’(&f ‘f i ln Eb‘(d:’;lwi Eb(d:‘:f‘? sbfdfu){ EPKJJL‘/J ; O O : O O
If other factors do not change, employing: ; ; ; i
more laborers in a production process will!Law of ' ‘Law of ‘Law of :
result in decreasing marginal product. This:decreasing :Law of idiminishing  !increasing
trend is known as: ;cost iconstant cost :return ireturn O O O O
SoadSumy kP AL f Pt SSE wiv 'JuJu IR WY INF RS oW R
WS a1 Bo S w e Fe oo S 3 | : 5 : :
Sewing machme of a tailor is an example of: : ; E :
which factor of production? iLabor ‘Land :Capital ' Entrepreneur : O O O O
te 0S8 P o S $iint = ot oy T
E Gross ; Dlsposable
Income available with people for spending:Net national 'domestlc :Personal .personal '
after deduction of direct taxes is called: income i product rincome iincome : O O O O
Jlgu(}»fﬁé.éL/@I.J&Lu}(:'DfLLﬁ)ldgumU,E(L.Td;gfj‘é I/l:l,v(f(b E(JJ-TU‘; éd;f(_f}‘._)/"}()b é
s s § s |
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[ | Question Jir A E B : c i D A I B | Cc l D F
Which of the following is NOT a "Transferé
"o ) 1 ' 1 ] T v P-t¢] ' -
8. payment" ) . ESc,:holarshlps iP:znsmn iCha}nty 5Dep.rematxon O O O O .
S‘%uﬁ}&uldbﬂ(f/c.uﬁuﬁ(w;d% W hed 2 ;JM’/ '
iStandard
9. Five rupee coin in Pakistan is: . EToken money Emoney ECredlt money : ear r-noney : O O O O
:f(zvuég(ﬁub@;‘adé' (% Vi :c‘_u'd/i}"l i o !
Employment level increases during whichi
H 7 1 H ' 1 H 1 4 '
10. phase of business cycle. ED(-:-pressmn EBoom EContractlon EDeﬂ.::mon O O O O
?c‘:_t'n.;l}lLﬂgJJB'Jud/»L/L/?dA,uK: Sl :d/l)Lr/ 151/ Yy !
innovation theory of business cycle was: ; ; E E
11, presented Ey: o ) EPlgou EScPumpeter EJevons ZHawtray i O O O O .
S B Pt AL 0K L i 172 e X ;
Resources Cost of National
‘are ‘production  ‘income Unemployment |
Due to specialization:" : runderutilized idecreases  idecreases  :increases ;
12. . P V. . o :
:cg;u(/gu‘:-‘;ic‘_bndb:’l(:(dljj gufu:le&..;/w S‘L(}Turufd;fdi EMJUIJL’U/?),/Q E O O O O
z ey e
13, Ataxwhich is imposed on imports is called: | Income tax  [Tariff ‘Subsidy ESaIe tax i O O O O
m;{gfggxuf,wﬁ, ; ot Ry Y Sx ;
Which of the following tax brings equality in : : : E :
distribution of wealth? 'Sale tax 'Excise duty iCustom duty iIncome tax !
14. < , ) 3 : 3 ' . 1
S‘:l_l:'fl,g,d/lﬂw(-‘d J&»Jgu_{cuﬁo}b» 5 u‘g)-/ E d.ﬁ'/’bg E d!j(‘/ E Jgdu’ E O O O O
; iPermanent ;
Which of the following is NOT a feature of :Budget wrecordof & E ;
] period is 12 iincome and  : Deficit 'Secrecy of
15, public finance? imonths long iexpenditure iFinancing  'budget O O O O
?uf;,.»/'&.ytdx/‘ff;u:,}au 5 Bolos o FEOS E K\;«lgljl/ﬂ(.})f i d/l(,_.L/J;A} E o s L E
: b EMQ/J’V : : ;
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PRINCIPLES OF ECONOMICS HSSC-I

Time allowed: 2:40 Hours ‘ Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=36)

(i
(ii)

(iii)
(iv)
v)
(vi)
{vii)
(viii)
(ix)
(x)
(xi)
{xii)

Note:

Differentiate between ‘Deductive Method' and ‘inductive Method’ of economic analysis.
In a situation of perfect competition, draw total revenue, average revenue and marginal revenue curves
of a firm and explain their mutual relationships.
Briefly explain the concept of opportunity cost with the help of an example.
Differentiate between ‘average product’ and ‘marginal product’.
Briefly explain the law of increasing return with the help of a diagram.
What is labour? Write down any three characteristics of labour.
What is an entrepreneur? Discuss any three functions of entrepreneur.
Briefly explain the circular flow of national income.
Differentiate between ‘Boom’ and ‘Depression’ phases of business cycle.
Make clear distinction between balance of trade and balance of payments of a country.
Where does a government spend its revenue? Explain briefly.
Discuss the economic significance of Zakat.

SECTION — C (Marks 24)

Attempt any TWO questions. All questions carry equal marks.  (2x12=24)

Q.3  Whatis elasticity of demand? How is it measured?
Q.4  Whatis monopoly? Explain price and output determination under money.
Q.5 Whatis money? Explain various functions of money.

(9x4 = 36)

(2x12 = 24)

(36/-1"1 J/)(” 33 e
-u-‘-l I8 FUs )’{c.é&éd?.l(om Jcé/ e Ltisier 4 / Jis
LS el PG PG FT R L A G (i)
SN G o AL Leb P L7 aidrshendres S LUt e . deH (i)
/el Lol S L ke s (i)
s AN WP Molaght (V)
S esal; (1/? ol b 25 ik (v)
S el E S et i ez (V)
S PE LT e pe 2T (Vi)
S eolon S L34TET (vili)
GIEBOP LA LSt p St SERSAK  (iX)
/T b0l Eamime il Ly (%)
S woles e (B FU BT P (Xi)
S e S5 (Xii)
YT ) R
s/ éuilrrl? -ES s =49
te b L Feduita Ve gd b+ AUy
el Lot g ednd LSt Sest p e Snstel iy
SIS PP B L et e ss B
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| Question Jir A B c” D Al B |c| D]
; Business,
profession
Profession  |Employment "{and , .
1. Economic activities means: Business only jonly only employment O O O O
S JEV LU S | sk i ST ST
Trade and Industry and {Trade and Profit and
7. Two important components of business are: {commerce commerce industry Ios:?: " O O O O
?(J_!:_u;(lZl("md././p/( U6l J Kl Ot IO o uLﬁ’M‘@:
: ' : Government |No legal Meeting of
Which of the following is correct about{acceptance is |process is administration { Will of friends
winding up a sole proprietorship business? |{sought required is required is required
3. g . o O 0.0
?go//:géé'afr)f/gyﬁﬁf»l; dloddn""(,(u:c .:«/;/’Jdlu(djﬁ' Colib s terg -3 JU"/J(JF’» .
= Gﬁ(}-‘.{ “ 98:7:«/1/"
The maximum number of partners in a
banking business are: Ten Twenty Thirty Fifty
4. .. Loy :
‘."Ldﬁd’ilﬂ(ﬁb’/"u&);—uyu:/[u/gé(l;£d/('/. U2 uF - Ji O ’ O ' O O
The partners who invest and participate in a
partnership business and no one knows |Silent Non-active Secret Active
them are called: ’ partners partners partners partners
5. , , ‘
;w(lj}’u}? uxi,.omL@,L/ubgu(&(l/‘muyé M2 Sy s > 15 ¥ M esty Sy 0 45 O O O O
S‘u]LLb.{"U’ux?'_lg
The minimum number of persons in a listed —"
public limited company are: Seven Eleven Five Two ‘
sl ﬂlfu:u[ﬁd‘.@,(?j el yig *!; » O O ' O O '
Which business organization can be{Sole Joint stock Cooperative
dissolved through a legal procedure? tradership Partnership  icompany. society O O O O
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| | uestion i A B c D AlB|c | o]
A public limited company is included in the|Business Customer Stock Chamber of
' list of; center authorities exchange commerce -
8. . E N . .
tedndtite s/ F 2L OIS P e NAN Su KT O O © O
Ordinary,
Preference &
On which type of shares a company givesOrdinary Preference  |Elementary |Eiementary
9. the profits on preferential basis? shares share shares shares O O O O
94,(1;6[/4;,“6:{4J‘7£(;'J( U‘id/ (fi(f”; \fﬁélizl . Jlj:;l»l&?;td/
N
In Pakistan, a co-operative society is
established under the following act: - : 4 .
10. R 1920 1925 1932 1984
‘."Ldlgd/(li':fL(/i’))df.{l(fruqluu!u‘{luﬁul}@ O O ] O O
A contract to
reserve a Application
ship for for opening i
. carrying the letter of |Letter of Owner of §
1. A charter party is called: goods credit indemnity goods at port O O O O
- e WAL F ey [ LAes TR T £ ity | oy g i '
' sk S oy Skt
, Unemployed |Employees of .
12, Group insurance is beneficial for: . people - originations House_wnves Farmers O O O O
D (-“LAVH)IG%—LJJJJ:)]&;J; .iéufbg}u{_ Lgﬁ}ﬂ-éuuu cg_ﬁufli)k; qj_éu:'lzr
<
. Introduces Tells lies to
Sells goods | goods in Sells goods | buyer about
A characteristic of a good salesman is that | at very high | very good on very low | the qualities
he/she: prices manners prices of product
13. S g S K& | guedilics | UPSFIen Bt i e tus o O O O
s =33} S f ey 4_/:21/ uk.i'u‘l:)(f)_i/’
en/S it
A wholesaler sells the goods to: Customer Retailer Manufacturer | Distributor
14. R s
’ "‘LQ:!’JJLJJ/J/ \.,(( . S 2o pIays O O O O
Automatic
Exact copy of letter or document can be | Photo state | typing Electric typing
taken from: machine machine machine Type writer
15. - . o N Ve B B .
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351
PRINCIPLES OF COMMERCE HSSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)
Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. (9x4=36)

(i) How does a business make the savings of people profitable?

(i) Briefly explain the types of primary industry.

(i) State any four characteristics of sole trader-ship.

(iv) What is meant by the dissolution of partnership business or firm?
V) Write down the forms of partnership under Islamic laws.

(vi) What is meant by common seal of a joint stock company?

(vii) State the differences between the shareholder and debentureholder.
(vii)  State the important features of cooperative society.

(ix) What is a departmental store? State its features.

(x) Briefly explain the types of bill of lading.

(xi) State some of the important principles of insurance.

(xii)  What is meant by filing system?

SECTION — C (Marks 24)
Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3 Whatis business? Describe the qualities of a successful businessman.
Q.4 Discuss the various kinds of joint stock company in detail.

Q.5 a. Describe export trade. Write methocjs of éelling goods in foreign trade.
b. Explain characteristics of a good business letter. .
. (36/-1*'1 j)(’”-"’ ‘
(9x4 = 36) P st Fus g e QLLAR(08) de ST L3 g0 A
ez (i) et LIS K ()
S e GAECLAKS F (V) Skor? ks SIEANZE o (i)
St e p SPSFE Shp 7 (Vi) GBS pe b Luds g (V)
Sekes® AL (Vi) S SENST At (Vi)
ISR (X) L ekor® S bt Gt (iX)
Cert e ad” (X)) e LeKs (i)
CYI )Y
(2x12 = 24) | A Lrpi ES D

LS e SeA LSS KL S e 6ok # A

_q/uyﬂfi’"rw..ﬁfl‘lfé’{gfdt/f;}‘ O

GIRE P Less S Dbbin g g ot B aipsals D wA
Loelr SGlsL o

—— {HA-Il 2307—




5@ 2
. v Version No. ROLL NUMBER
311(81]1
u
, © © © © ®© © © © © ©
- O3 JNONN _ OIOIONONONO,
n BUSINESS ®@ @ @ @ ® @0 @ 0 0
SECTION — A (Marks 10)
N Time allowed: 15 Minutes ® ® ® ® @ ®@ @ @ @ ®
Section - A is compulsory. All parts of this
. section are to be answered on this page and
- handed over to the Centre Superintendent. @ @ @ @ @ @ @ @ @ @
Deleting/overwriting is not allowed.
. Do not use lead pencil. @ @ @ @ @ @ @ @ @ @
'./;»/.-,b’.qﬁ_w&f //rfe_.:f)‘m A2l S ® 0@ O @0 0 O @ 0
. - JW:KJ‘?;::J_M :«JHJg
[
- © ® ® @ © © © ©® ®@ @
. R
, Answer Sheet No.
| ,
N Sy Simeendb LHESL s L)y . INVigilator Sign.
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-flouestion > A | B | ¢ 1 b ia[B]c]|oD]|
| I E E : E
1. 150is 5% of which number? 1300 13000 14000 12000 O O O O
| | s | | |
n, ge30:10=30:x then the value of x williz) 25 20 15 0O O O O
m e s | | s
What will be the discount on an item withé
- 3. price tag of Rs.300, available at 15%7? ;15 545 520 530 ; O O O O
n . 2 % i e
. 4 \é\ghgt) 7percent of Rs.300 will be equal t°§30% 10% 520% 1 5% ) O O O O
W Commission on a deal of Rs.150000 @] ;
.5. 2 Lot will be: gRs.3750 §R5.375 iRs.37 gRs.37500 O O O O
2 ' H 1 ; o
. 6 Which concept is used in calculating monthlyiisnitmf:;:t | Eﬁ?::g;und %Sum of EPresent value§ O O O O
u * installments of a leased car? im:thod Emethod rannuity 1of annuity ;
What will be the order of matrix| E ;
.7. [ 25 82 §4x1 §4x4 §1x4 §1x1 O O O O
. e e v i E ! : ! i : '
n 2] | . i §
Product of matrices [I -1 2] and | 4 |: 5 : 5 :
8. [ I tli 2~ 6] 6] 'O O O O
T
. Conversion of (8) ~into binary numberé 100 1000 : 10 101
.9- oystom results in ; (100), :(1000),  i(10), : (101), O O O O
Mo \What wil be the sum of (101),and (100), 2} (1010), ~ (1100), : (1000), { (1001), O O O O
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BUSINESS MATHEMATICS HSSC-!

Time allowed: 2:15 Hours Total Marks Sections B and 'C: 40

NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 24)
Q.2 Attempt any EIGHT parts. All parts carry equal marks. | (8 x 3 =24)
0] 60 days food is available for 210 students in a hostel. After 14 days, 20 more students came. For how

many days the remaining food will be enough.

(i) . Mr. Assad is a distributor of a fan company. He booked an order of 20 fans @ Rs.850 per fan and
agreed to allow 10% trade discount. Find value of invoice.

(iii) Mr. Bilal spends on his clothing Rs.560. This is 8% of his monthly income. What is the monthly income?

(iv) A broker received Rs.16000 by selling a piece of land. His rate of commission was 2-;—% . What was the

selling price?
v) A shopkeeper sold an article at 20% more than its cost. What was the selling price, if the cost of the

article was Rs.3207
(vi) Three men invested Rs.18000, Rs.12000 and Rs.6000 respectively. How should they share out a profit

of Rs.36007?
(vii) Two sums Rs.10000 and Rs.5000 are allowed to grow for a year at the rates of 5% and 10%
respectively. Which pays more?
1
Ju
@ A2 (b h(lj ©  h1-x)

(vi) W A(uw)= , then find the values of

9

2 -4 '
(ix) If A :[ : 2} , then find the multiplicative inverse of 4.

0 2
() If 4= L 5},_ then show that 4+ A4’ is symmetric.

(xi)  Evaluate (1111),x(111),
SECTION — C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Q.3 a When a number is added to two-third of itself, the result is 45. Find the number. (04)
Solve the following system of equations by using Cramer’s rule (04)

4x=y+13, 3x-6=2y

Q.4 a. What is the rate of interest if 7500 becomes 9000 in 15 years compounded annually? (04)
b. Solve the following expression (100111), +(11110), -(10011), (04)
Q.5 a Find the future amount of an annuity of Rs.40000 payable at the end of each quarter for 6 years at 8%
per annum compounded quarterly.
13 8 4 '
b. Express 4 L as a single matrix. (04)
1 4] 214 8
— 1HA-1 2318 —-
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HISTORY OF PAKISTAN

HSSC-I
SECTION - A (Marks 20)

" Time allowed: 25 Minutes
Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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Answer Sheet No.

.4/__/4 fn/’buu&fl&éﬂf/zié; e Ly s Invigilator Sign.

®@Q @ © 60 ® 0 @6

®

Fill the relevant bubble against each question according to curriculum:

®0 @060 6006
®0 @060 06006 0
®0 ©®0 00660 0 6
®0 ©®0 000606
®0 ®0 60600 6
©®0 ©0 6006006

©)
©)
©)
©
®
©)

Candidate Sign.

|

..‘... | | | ] - . -
B R EE R RREREERE BN E NN B EREERMEEEEEDNEEDN N RE N

| | Question s A | B | ¢ i 0 iaAalB]c]D]|
1 The first capital of Pakistan was: 5Lahore ERawalplndl iKarachl Islamabad O O O Q
NP Y Juw,;rul-fg ‘sl VSl ! d_,lf ATew '
iMuhammad
Who desired to be governor general of both: Jawaharlal SA";'""ah : ‘Lord E
2. Pakistan and India? ‘Nehru H(A£) iLord Wavel Mountbatten : O (O O O
?LFJUIJ“}JZE_.J/'?/'/f(u]»culé/;lubf&EJ/JJ/;UZ ga"d‘j idg:hu §u£"_‘/‘it5/v i
(25 o 24" S |
) ' December ' 1;44\“9““ :November  :September .
3 The Quaid-e-Azam (42%) died on: 11948 : 11948 11948 O O O O
$0Ltiso S 16 11948 2 125 1194811 11948 2924 11948711 2
Which of the following princely states!Jammuand ! ;
became part of Pakistan? : Kashmir iHyderabad  :Junagarh :Bahawalpur
. partot ™ - Y vl : O O O O
8 IS AT S e Skl 307 AT otz oy 5
When was Prime Minister Liaquat Ali Khang ; ;
martyred? +1950 AD 11951 AD 11952 AD 11953 AD '
5. . : ‘ H H ,
WU st ST ol Y1001 41950 141951 141952 141953 : o O O O
Objectives resolution was passed by the first:March 12,  :March 12,  iMarch 12,  March 12, |
tituent assembl : 11947 AD 11948 AD 11949 AD 11950 AD ;
s constituent assembly on 3 : ; : : 0O 0O O O
B Sarloeson J S e i3 194TG AL 1+19485412 1419495412 1419505412 ;
When was the first constituent assembly!27% October :24% October ;8" October {5t October |
dissolved? 11954 AD 11954 AD 11954 AD 11954 AD :
7. ' H : 1 H
WU A ulﬂhd.’v;.s19s4/.?’|27 1195445124 1419544518 #1954 ; o O O O
The 1956 constitution of Pakistan remainedé
enforced for years. ' ' ; : '
8. 2 14 16 '8 :
Yl,/J’Jlﬁl:Jdl/E:»W%ul:{ng ; : ; : : O O O O
’ Page 1 of 2 |




[

leuestion Jir ! A B (o D EA[BICID!

e a .Ch. | |
Who became the Prime Minister of PakistanKhawaja Nazim ‘Muhammad iMuhammad 1 Zulfikar Ali '

g  after Liaquat Ali Khan? tud Din iAli Bogra (Al EBhutto 5 O O O O
Pl Lol Syl WSk . d‘jdu,f EAg-TE 5
Which country opposed the membership of§
Pakistan to the UNO? iIndia iIsrael iAfghanistan | Egypt '
10. ' [ ' ! :

' NI O CE A e v T Vt : o 0 0 0
Ayub Khan planned to shift the capital form! E

1, Karachito: 'Lahore iWazirabad  :Multan ‘Islamabad O O O O
?L;G)IJI(L/U}:;Ji(/u:g/bc,(,{,l/LuléyglE/MU ‘:)gf/,,}: EUCL S)Llrufl ;

., Indus Water Basin Treaty was signed in: ~ {1860AD  {1962AD {1961 AD {1959 AD | O O O O
t i s s S b ok 11960 151962 (41961 £,1959 i
Who introduced Basic democracies in :Sikandar : ;

13, Pakistan? Mirza iYahya Khan AAyub Khan iZia-ul-Haq ! O O O O
S A PSR S] pasE ;uls({: :ub.,ﬂ EJ»L.&
! : ! 50 E
18" June 115 March 1239 March  :December !

14. When was 1962 constitution enforced? 11962 11962 11962 11962 O O O O
S S oKr 1962 1419620728 1196284 F 119625423 1119627525 :
ESheikh .
‘Mujeebur ! 1 Zulfikar Ali -

15. Who presented six point formula in 1966?  Rehman i Ayub Khan !Yahya Khan :Bhutto O O O O
WL I b 2966} Sl et bl Az
EGeneral . '
: iGeneral Ayub :General Zia :Pervaiz EGeneraI |

16. Who imposed 2" martial law in Pakistan? :Khan .ul Haq iMusharraf . Yahya Khan | O O O O
el S Al el et J'Wd/ : SAedr losfuz ;
When were first general elections held in EDecember, ' December, ' December, ' December,

L7 the country? 11971 AD 11969 AD  i1972AD  (1970AD | O O O O
0L i S It L L1971 2 5,1969/; §,1972/; 5,1970/;
Miss Fatima Jinnah contested Presidential iSikandar
election against: 'Yahya Khan :Ayub Khan |Mirza 1ZiaulHaq |
18. . b, ' : ] .

I L Lkt ol T H il PP ; o O O O
:East ; : West |Gilgit

19 Sheikh Mujib ur Rehman belonged to:: i Pakistan » Kashmir : Pakistan :Baltistan O O O O
WSl ieid s Poelyr ol

20 Liaquat Ali Khan paid his first official visit to: A merica §Russia ;France ilran O O O O
-,_lfK w)dz(/éic../z,ubd‘_» E,{ Eu’» i«f‘/ EL‘J’/.' 5

——1HA-Il 2319-3191 ——
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HISTORY OF PAKISTAN HSSC-I

3¢

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines. (10 x 5 = 50)
(i) Write a short note on any two of the administrative problems faced by Pakistan at her birth.
(i) What steps were taken for rehabilitation of refugees by the government of Pakistan?

(iii) Write a brief note on Indus Water basin treaty.

(iv) What was Muhammad Ali Bogra Formula?

(V) Give a brief introduction of Malik Ghulam Muhammad.

(vi) Comment briefly on the importance of Objectives resolution.

(vii) Write any five Islamic Clauses of the 1962 constitution of Pakistan.
(viii)  Narrate any five land reforms by Ayub Khan.

(ix) Comment on the 1965 Presidential elections of Pakistan.

(x) Briefly comment on the results of 1970 elections.

(xi) Write a short note on LFO by Yahya Khan.

(xii) Write a short note on Regional Cooperation for Development (RCD).
(xiii)  Give a brief preview of Pakistan’s special relations with Saudi Arabia?

SECTION ~ C (Marks 30)

Note: Attempt any THREE questions. All questions carry equal marks. ) (3 x10=230)

Q.3 Explain the services of the Father of Nation, The Quaid e Azam Muhammad Ali Jinnah (‘«.?}/f), as Governor

General of Pakistan.

Q.4  What were the causes of delay in constitution making till 1956 AD? Explain.
Q.5 Describe the causes of the downfall of Ayub Khan.
Q.6 Give a detailed view of China-Pakistan friendly relations.
(50~ S rss
(10x5 = 50) P st B prakee QLEAI(A0) s etk pns
LA LTS Al oer” (i) /i F ¢J/,»o’( cSgeidi s foe]
Wb UE S (V) Y ) PRI 19>
_L[/o/;’?/'g/?c/jlgfﬂﬁ'ﬂgl;/!} (vi) ‘é‘f};}/bﬁ(j(wwﬂ
bt § L S S Syt (Vili) W b bl G T L1962
SN /34@&_-,;@1&1970 (x) L /4@&(‘3"!8;!%5&965&&?@
-u'.‘”d 2 /7" 4((55,(5-17)@;2,;/,@(;&1:& (xii) -u:“’i L ﬁ'?/?;l_gujmf Sl Lul&g'f"

& TP B Lo L]

(0~AI)fr s
(3x10 = 30) (dsf Ludr i gES Ird < 35
Ak s S 2 T
S eolest & L B G P U 61956
SIS IRSEIN S DY S
S A T s

—— 1HA-Il 2319
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(i)
(iii)
(v)
(vii)
(ix)
(xi)
(xiii)
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Answer Sheet No.
. : P - - . .
- C Iy fmeen Qe LS L e LY, InVigilator Sign. _
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
T question i A B c D Al B|]c] o]
- How many idols were placed in Khana .
Khabaah before Islam? 300 360 370 400
: 1. : - .. . ‘
| 18 eSS e pioind [k At ek yie O O O O
| At what age did the Holy Prophet ()%:2)
. 5 (tfﬁ‘J ’(- &) receive first revelation. 45 years 35 years 40 years 52 years O O O O
- E VS S0 P /16 = L [ uas Ju3s Jia0 Jos2
- In the pre-islamic period, the war of Basus B
was fought for: 16 years 7 years 10 years 40 years
3. -
N Sk I EuABS < b {16 Jv7 Je10 Ju40 o O O O
. Seasonal
.4, What was the UKAZ in Pre-Islamic Era? City Idol Mountain Market O O O O
NI AT = e A ‘
[ p— )
ich year was the charter of Madina
ms agreed upon? 3 Hijrah 1%t Hijrah® 7% Hijrah 5% Hijrah O O O O
' IR IS A1 ' $A4 UAs
N
.5_ Where was Dar ul Nadwa? Yaman Madina Taif Mecca O O O O
’ S Cbutfesstn | o~ o b £
L
.’7' How many sacred months are there? 2 3 4 5 .
?‘Lifjuﬁ&)ﬁ?’ (171 4 A, &\ O O O O
&
= ‘ Khusro
8 What was the real name of NEGUS? Ashama Mugagis Harith Pervaiz O O O O
- WWL’J"K&[{ Wl ‘fﬁ’ £ ‘4:/_._5/. ] )
. Which Lunar calendar was introduced by
Hazrat Umer (48)? Bikrani Feel AD Hijrah
9. D !
N VST M sR/ N Y 4 g Hie o © 0 00
N
L Page 1 0f 2 |




| Question Jir A B c D
' What was the title of Hazrat Khalid bin Walid
10 (8 Habib Ullah {Saif Ullah  [Zabih Ullah jAsad Ullah O
' ) BV I W 2 | e e s A
1 In which month was Makkah conquered? Ramdan Shahban Shawal Dhul Hajj O
' RN ABY e Ji# 4
Hazrat Hazrat Haris
Khabab bin Hazrat Yasir ibin Abi Hala |Hazrat Zaid
12. Who was the first martyr of Islam? Arat (48) (5%) »(%7) bin Haris (4) O
et L el e P e Jedierdoe 2 | 2oy 2
In which battle was Hazrat Jafar Tayyar (5%)
13 martyred? Hunnain Uhad Muta Badar O
- "Z.x)}g.""du/d_:(/l.}y/”a/’ uf} f awhsf sruf "y
14 When was the battle of Badar fought? 5 Hijrah 4" Hijrah 3 Hijrah 2" Hijrah ‘ O
' " S aerf | S s $A4 6 $/2
Who was the first caliph, to relinquish Hazrat i H;zrdt Al Hazrat‘ o szrat Uman
15, Khilafat? Hassan (5) | (48) Hussain (48) (58 O
. ‘-‘Lf,ié(d/b/,:f}c‘..;)ﬁﬁ.,&?d'.:( Ve U‘c«/’ ?jﬁ'ﬂ:«/’ Iz 2
During the reign of which caliph was the szrat Ali Hazrat y szrat Umer (Hazrat f\mpu
16, compilation Holy Quran begun? () Usman (58) |(48) Bakar (5t7) O
Sl St m L s et (M [ e e Y& K o
17 Hazrat Ali (4%) was martyred in the year: 661 AD 650 AD 656 AD 634 AD O
‘ s Sl S F e | 661 4650 4656 4634
Which is the most sacred place in the Al Agsa
world? Holy Kaabah j Mosque Damascus Palestine
18. . 4 % 3 O
S UI PN B e il | 2 e 5 Pt
Which battle was fought against Jews of :
. Madina? Hunnain Khyber Uhad Trench
19. . ) ) O
“Jdﬂ._ﬁ(f:(_:l!ié:.zur‘.’. o V4 ol ox5
Age of
20 Pre Islamic Era is known as: lgnorance Dark age Modern age i Golden age O
?‘Lt't_vl{(‘l/)/wérll/i}l(f bl o Ay I
—1HA-I 2322-3221 —
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ISLAMIC HISTORY HSSC-I

Time allowed: 2:35 Hours , Total Marks Sections B and C: 80 1

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately .
provided answer book. Write your answers neatly and legibly. ‘ "

SECTION - B (Marks 50)
Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines. (10 x 5 = 50)

0] Write a short note on the Holy City of Makkah.
(i) How did ‘Quraish’ get their name?

(i)  What was war of fijar (Jad)?

(iv) Who was Varga bin Nofil? ' e
v) What is meant by year of sorrow? Explain briefly. ’

(vi) Differentiate between Ghazwa and Sarriya.

(vii) Briefly explain ‘Mawakhat'.

(vii)  When was the reconstruction of Holy Kabah started?

(ix) What speech did Hazrat Jafar Tayyar (%) deliver in front of Negus?

(x). Highlight the role of advisory council in Hazrat Abu Bakar Siddig's (ﬁﬁ) era.

(xi) Write a short note on the deaths of Hazart Amna (%) and Abdul Mutalib?

(xii)  What was the behaviour of muslims towards prisoner’s of Badar?

(xiii) ~ What is meant by second pledge of Islam?

(xiv)  Hazrat Abu Bakar (ﬁ&) is the compiler of Quran. Explain briefly.

(xv) - Who was Amr bin Alhazrami?

SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10=30)

Q.3 Point out the causes and effects of migration to Madina?
Q.4  Narrate the incidents of Trench War in detail.

Q.5 Write about the treaty of Hudaibia as Fatah Mubeen.

Q.6 Discuss the main points of Hajjat-ul-Widah sermon.

Q.7 The conquest of Makkah was the great revolution. Explain.

ARk KU pele &l;f.' 121(10) Ve et s puse i Ay

(10x5 = 50) | | v

RTINS () i L)
t&ufPisin (V) e e b (iil)

S Oyt (Vi) G (V)
edTr S A Sk (viii) Sl p bty (Vi)
WAL e (X) W PSS LG (X)
WSV evidn Lo () i pebd e aier  (X)
oo BT IEE e (XiV) Ses e b ien  (Xii)

Wl et (xV)
| GO~y e
(3x10 = 30) (e Lushr(O-geS D 8
| GGl ue p # AUy
S A L G450 f Ay
ek e Tl AUy
YIS AL 25 Ny
U/ yu,-w.,uﬁ:f."" iy e iy
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SECTION — A (Marks 20) .
Time allowed: 25 Minutes ® ,© ® 0 ® @ 006 00
Section ~ A is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @
section are to be answered on this page and
handed over to the Centre Superintendent. @ @ @ @ @ @ @ @ @ @
Deleting/overwriting is not allowed.
Do not use lead pencil.
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Answer Sheet No.
gS g hmemndb LI5S L 2 Ly, InVigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| ] Question o, A | B | ¢ | Db AlBe]c][oDp|
What is the total number of Madni Surahs ing
Holy Quran? : H ; : H
1 N . 15 120 128 140 :
fei§ ,UJJJuimd;.uﬁ_,@ o7 O O O O
In first revelation, some verses of iSurah Al- §Surah Al- §Surah Al- i
were revealed. i Kausar iSurah Al-Alaq: lkhlas 'Bagarah :
2. : : | ;
_u/yrdzt.«ufgf u‘u’;&/./ 1549 EJ’JIEJ/ ;Juéms/r E‘i}:’ﬁuf E O O O O
According to verse of the Holy Quran who§ ;
will be in the lowest depths of fire? 1 Briber tInfidel iLiars Hypocrites 1
35 1 ) ] [ :
?b’nuf‘ﬂdi‘ii._wé 10 LTS} G ¥t 1o o2 : O O O O
. iHazrat iHazrat Musa iHazrat Isa §Hazrat Daud
s the tille of [ Yagoob (&) [(t ek o |
4 lsraelis the title of: !' qoob (#) "W) : u('fw') :f %) O O O O
S J’l/ e P, 'u’r.,/’ 5()’!‘://'" 153z 2 v
Thé literal meaning of word “Hadith” is: |Way ! Conversation |Remains 10ld :
5. : : : : :
- FOA e 3 ) iﬁ" Eujmdg sy 5 O O O O
What was the age of Hazrat Muhammad
H:“Jt'!‘ (et lr’b) in the year of the battle of :
6. Fijar? -12 years 18 years 110 years 115 years O O O O
W S p S P B b e pp I L s 12 g {10 s
§Hazrat Musa 'Hazrat Daud iHazrat Yahya éHazrat
,  Sabians accepted as true Nabi. :(fﬁ"'&) (M’) E(W}.":;) iHaroon (%) O O O O
_Lg_tdls‘/ ot J/u/, E;ilmv/’ E:ff‘a/’ E(Juko/”’ ;
In whose period, was the battle of Yamama; Hazrat Abu EH{azrat Umar ;Hazrat i El-iﬁzrat Al E
fought? \Bakar (48) (25 {Usman (48) | (#5) i O 0 O O
S‘é’dﬂuﬁu;&/,,u,jz:).’,y,/) gjf_,/»; 'ufi’.,ﬂ ;’Z}‘.z,,'v ;
I
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| Question

D

Hazrat Umar (u"‘”&) was martyred in:
it S 5420

Jyr A

1201 Hijri

+

1215t Hijri

A1

{224

1
1
)
P
b

130" Hijr
HEA30

10.

What is the fourth source of Islamic!

Jurisprudence?

!Quran

te Vil g¥gun B : i

{24™ Hijr

éljma
el

‘Qiyas
v

Choose the correct meaning by filling relevant bubble

M,Q.jl;j@&fj(}":/uéﬂ(}/ﬁ

11 &S Zef:; me er:: you éB:cfere: him Zei:;e us O O O O

12. %, é;'?’under étishtning R:ln éz:alr'kness O O O O

. Tl D W" ff,‘ j'/ O O O O

10, 4] Yékw j"w {fc,fj, f:jkw é O O O O
EYou EYou

;You read

You write

i understand

remember

15. 23)& . .
v E,{&.‘/ﬂ} nﬁf E,fi'r’ E‘"é“'&f’ O O O O
, §30 ?40 §50 260
16. ZiL07 ' i i i
LMV‘ i LF- § (ﬁ’lg i Ul i Y I O O O O
42 Sea River Spring Well
17. & . : : : .
- ;/»‘, “:” E "f.)q Eu"f E O O O O
& EElephant EMonkey EFish EMosquito 5
18. 3 V. i ' : )
2 7 Eﬁ ) 0 0 0O
| They | i 5 §
19. 2283 » conceal i They reveal :Theyearn :Theyspend :
u}é’é A vt S s VAl VLS e ; O O O O

20.

e

They
* understood

W Lt

: They
! listened
W Lunt

! They refused | They bought :

s

Il
¥

; 147U’

——1HA-II 2323-3231 —
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Time allowed: 2:35 Hours

ISLAMIC STUDIES HSSC-|

7z

" Total Marks Sections B and C: 80

NOTE: ° Sections ‘B’ and ‘C’ comprise pages 1-2. Answer. any twenty parts from Section ‘B’ and all the
questions from Section ‘C’ on the separately provided answer book. Write your answers neatly and
legibly. ‘

SECTION — B (Marks 40)

Q.2  Write brief answers to any TWENTY of the following questions:

(@
(ii)
iii)
(v)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)
(xv)
(xvi)
(xvii)
(xviii)
(xix)
(xx)

(xxi)

(xxii)
(xxiii)

(20x2 = 40)

Describe two types of revelation.

What is meant by Makki and Madni Surahs?

Describe two qualities of the pious people.

Explain: Tsza shsisi bss pyslisd.

Why has Aliah (Z5%) given examples in the Holy Quran?
Explain: 304 .

Who were “§.L"

Why were the inhabitants‘of Ayla(4t) punished?

What is meant by Khabar (,7)?

Aécording to Hadith, to whom the religion is sincerity (z:)?

How does the hadith guide us about the things that have no concern with us?
Write down two clauses of the treaty of Hudaybiyyah.

Explain the difference between Ghazwa (.»#) and Sarya (. ).

Why was the battle of Mauta fought?
Write two points about the importance of the Migration to Madina.
How many men and women migrated in the second emigration to Abyssinia?

Write down any two difficulties in the caliphate of Hazrat Abu Bakar (;‘??,'é).

Why is Hazrat Usman (fc’i%) called “w.#15"?

Write two beliefs of Kharijites.

What is meant by Half-ul-Fuzul?

Who was Musaylimah Al-kadhab?

Write down the articles of Qiyas (only names).
Why were Bani Israel ordered to slaughter a cow?

(40/-1') J/ )(" 29

(20x2=40)

g ez La71(20) Ui g

?‘cﬂ/y/:.,u;;faiulut (i)

VLS ) TSR ()

yerlnd lesbiaksisiraglid (V) " /ug&u,,,&? (iii)

S ealon 25044 (vi)
Wty fur L (viil)

curdupud e Ut dod (V)
& gfAs (vil)

S S L (X) e Ve i (iX)
.g.‘.’(‘;,hi”)u(ztyél (Xii).b ?+J/éb?16/h££&,nufbggéu;gﬁﬂ (XI) _

' SSuder e (XiV)
S AL F15ms p LS 2o A e (XVi)

IO e ites (Xl
-q’//,‘/“oﬁ’ug}wécdfd/g,c.qﬁ (xv)

e b ULl a2 (xill) g e (e m L e (xVii)

?ct‘_)l'/'.l./cd)ﬁjl..ﬂv (xx) -uf(}‘:ﬁ’l‘ifﬂéuﬁjlé (xix)
(b g S f L UG (xxii) Wl (xxi)

sl P ST 8 Fag (xxiii)
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Section C (Marks 40) (40 } ‘f) (I’
(Note: Attempt all the questions) (-égkfd"’ru:hf‘

{Jvlﬁﬁéﬂlréé.)u:ﬂulu.'.’%fc.gdi.yﬂ ﬂ’/.'}dlr
Q.3 Read the following verse and answer the questions given at the end:

> 2 :” 2 z “,,,We;s”» ., PR Y PP Wy ,n wip, 9%
SO ~ Vw MC.)M m\wuﬁ‘wu)’,ﬂ; y;aawﬁ:”g! Yo u:, J 58
./9,0 E muaf‘&;;

(i) Translate the above verse idiomatically. (3) | BEA Y AT ()
(i)  Exelain: 35,0 CiH GRS | @) NI Gy Ve - < I - A
(i)  Explain: a;».::uu | () el OB (i)

(OR) ()

@U;{;:[’ uz 828 u’, &9',4;",‘ T;’ ) ;,,:// ‘(/.5:"2"; ;,;;:l, 23
() Translate the above verse idiomatically. (3) -éx}'wlf&b’qlug@; (i)
(i) ~ Bxplain {5 (2) apfestenf uw" (i
(i) Explain: g 2) eolend BN il

(4+4=8) L S n M ae L Lize TRy

Q.4 Translate and explain any TWO of the following Verses:

®6;°§.v}3&\;;5”;1%5&?%1; V// ’ptl \'}36 (I)
a5 s u“wd-w R ERE B iR oey; O

4 fn 3

u Sw ~ Le3900820 ¢ PI2L <Uv ):rr’
W Sgle G baltn A S50 5 G2 5N KT ()
-é.e/b’._abl»;.u:‘b.yﬂ 84y

,::

u‘;m
(5+5=10)

Q.5 Tranélate any TWO of the following Ahadith:
o 353,lsciia) B bl B a8 B gk I I8 sl gt )5 g )
s K08 55 s il B msi a2 B 59 sl Bebes ()
MletslatisolyBion B Ladaia e aens e 5ol bagis A b Gl Il d e b gy (D)
(5+5=10) | e fad e plig i Ay
Q.6 Write notes on any TWO of the following:

0 The treaty of Madina. A0 ()
(ii) The importance and resuits of conquest of Makkah 69}&«"&5/ ,ij (i)
(iif) The results of Ghazwa Ahzaab Ctéulil,, oF (iif)

© | EfedP i e ddive Ay
Q.7 Write a s:;‘ho'rt note on any ONE of the following:

(i) The characteristics of pious caliphate ..ayr"' Jn}l;:ﬁﬂf' (i)

(i) Quran as a source of Islamic Law. o Sttt (i)
- —— 1HAI 2323 —
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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not atlowed.
Do not use lead pencil.
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Answer Sheet No.

3 1 3 | ! 5 | [ | |

.. . Candidate Sign' . ..J_.///_._:C/'l:c/u&f{b!Lgfﬁié.)'d_l/édlr/z
X Invigilator Sign. Fill the relevant bubble against each question according to curriculum:

3 ; ' .dlrl l

" R
O |-
O |«
O K
%
Q)
(

Of ws®  gdl g ad ———seSlppads

O O O Of Yo A w2

O O O O s s osdhl w8 askdgisSighalay) 3

1 - 5 " i 3

O O O O g of o6 Gl Sl i 4
O O O O . % &odi i &uplé! g B s
O O O O} 6 s i 0 i ssoldduBl 6

O O O O dleg cdpadi Jdigidl oz R P T1TS 5

O O O O edli  card esdl eSS Ssasd il LG 8
O O O O 4§ & ad i af d680800kE 9

20 O O O S O = (R vy S8 s < 31gfs 10
| ; : : . :

u
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FeAP Aagl 355! 5k 14
: | G

L | L, n
o O O O 2 K %} iyl ki Gl Jed_ adsglBigas 15 n
E ,: ) P £ -

o O O O ekl &6 &5 &l 455ksals] badl 16
| ]
O O O O & 3 4 B ik s v W
j , |
o O O O Ji azs! Xy e s PRITORIETIN
| | | | ! u
o O O O g F g & Glssohiges kgeasls 19 g
., egigedtadg_ @ W
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B0:0 sl a0 22 / J/ _ :‘:z2340:¢:’)

Q2

")

|
o
w

3 3 h .- §

m(')

N
o
E =

(°2 By St

(V+4)+) POTES VR PP (R IR S PR T

Translate the following into Urdu or English:

-

-8 8 il e S Akt 8 S 139 AIEE

381595850 BNtaple s 2ass ol gl sipdl i bl st B dae e el -+
st tanlesadlse aiditansts sse e ek sesSngialita sty sl
Lzl ksglat

s tae e e asbiost B9 5s 8 el iz

Translate one of the following parts into Urdu or English:

ot s 3 4 % v Wb Al o £ s -
Jif s b &l g g s B e I %
M8 g o) A W &B Y s xS

£ ool g 235 el R JeF
G e 3 s

d)’ &) -"/ l:{ 9 5. -
DAl azd 7 p IS 1

QIR RPSCWREC [ NPE, PN YRR O e J T

Answer any five of the following question into Arabic:

Qw‘é’é&&?bw:’jﬂgﬁﬁkﬁ (|I) Q@:\Ea\h\ L/EI;J:Q (l)
Sapdiiols i 52515l (iv) Y 3&}\ M"’,’ adgakbasd (i)
thlgssda (v coilldasbas (V)

sodidayaid Adioa g i) oL s (viD

¥,

Page 1 of 2 (Arabic)



(2) : (hisdnty o S b iy, S oels

Q.5 Give Masculine for any FIVE of the following Feminine words:

&z (iv) aafg (iii) a3 (ii) 803
g (i) ks (Vi g (v iy
(V) | : (EBau#) 2 8l Q7 s
Q.6 Translate any FIVE of the following sentences into Arabic:
(i)  There are funny stories in it. U e AU
(i)  Surely Allah (33%) is king of the kings. —e il KUl (R it
(iiiy  Canceris a dangerous disease. —e S B Ll .
(iv)  You have recognized that place. _c‘:.du%,;ui_j

The holy Prophet Hﬁ?‘(ﬁf(’l&) is a mercy of

(v) Allah (55 e S e 4(’&)'}5?‘“5’()7@
R ) -
(vi)  The soulis a trust. —e UL
(vii) Registration is required. Y Ay
(viii) | saw Anarkali Bazar. b
)
0wty s

(4) : il o Ul gl “ B 3500 3

Q.7  Write down the whole garden of “ 1" past tense.

('+) Aladigesdlasios o sie g/ &

Q.8  Write down TEN sentences about any ONE of the following topics in Arabic.

HEgu@ ) (e Syl o D 514
(A) BohabiledlsSIRT dadl 3/ 3

Q9 Re-arrange the following sentences to make a meaningful paragraph:

..s«[a\J 5 )#\J )»[b )ﬂ»&r—ﬂ)%} ‘)—’jWJlJJU}‘“&’Uj‘

UL apd) w Wl 5o
_owhigdistdledu g
:g\;.}:ﬂmijlaﬁi
—— 1HA-I| 2325——
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ol gl

()
(v)

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

il

] Jl g
(i)
gl g

(i)
(ii)
(iii)
(iv)
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Answer Sheet No.

LSy fomernOW LIES Ly 2 Ly, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

5 ]

| Question Jir | A : B 5 c 5 D Al B | c|
Those who have right to vote in the Greek! E 5 E
city sates were called: iCivitas iTechnocrat  : Civis iScholar 4
1. ' 1 ‘ :
$ & LW st iU A Uty la S iUy $7% o O O O
Among the social sciences which science is§ éPoIiticaI :
called the twin brother of civics? 1 Sociology :Science iEconomics  ;Ethics
2 her S0 : Eos i O O O O
ety Suunzb r SF S e B e el et U
Which family system is disappearing with the! ‘Monogamous : Patriarchal
passage of time? 1 Single family :family 1family Joint family
3. T T S B b o (e o O O O
?c‘_pn(,rlbdubbfjl/dbégjfo’::ul/vb)/‘ bt LSk Ik S ‘

Tribe, clan and family are included in which

BEEEEREERNEAEAEE BEEEEEREENEEEEREDND

Religious O O O '

category? ' iRacial EGeographicaI Political
4. s ' ! O
S b UL M RS A tui e vt o
. Which new kind of state emerged in the! : : E :
, : i i ? ! : : 'Sociali '
.5_ worlfd after.the. faﬂure of a theocratic state? :Feudal :Monarchy :Secular :So?allst O O O O
‘ $nsit 68 O e LS arnstatysi on Lo ealial LT LA
. “The old testament’ is the religious scripture§ . _
of: 1Jews 1Buddhists 1Hindus +Sikhs
._6' e bl S e bat” Lot Lrnh 1L s L LU O o O O
- iThomas iJean Jacques
Who was the founder of French Revolution?!Hobbes +John Locke ;John Austin ;Rousseau
.7' W3 s 52&& ¥ S T S o O o O
{Rule of Rule of {Rule of
.‘8 What is the literal meaning of theocracy? !people ‘Rule of God Aristocracy !proletariat !
S S S LGS P Sy O ey I (F0Y o O O O
Page 1 0of 2 |
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| | Question Jir ! A i B ! c 5 D Al B | c| D | -
A power in the state that gives command to;
everyone but does not take from anyone is! i ' ; : .
g, called: iPeople iExecutive  :Sovereignty :Army ; O O O O
v;dMJnd,fc_ojfxd:(‘/Ji.»u,(ﬁu:_/tj5rt! é,_»u;}'l Ed‘uwl 1o ; n
How many pillars of sovereignty are there mi , .
Istam? 1 Two ' Three : Four 1Five i
10. - : ' :
?wuﬁ*z"féd‘mﬁufw B 4 L ' é2 : O O O O .
Which organ of government is considered f 5 ‘Federal 5
i i ? ' i i i ‘ ‘ "
11, Supremeina democratic state? :Leglslature :Executlve :Judlmary :Orr\tiudsman : O O O O .
V‘Lt'lo(i(]lllc_u/fc/:‘;‘"fuﬁu&/du/ugs,5‘ 3 e EJOG: :
In which form of government has the§ ,
12 principle of separation of powers? :Parliamentary ; Presidential :Unitary :Monarchy | O O O O .
: ?‘ct'm;?rd:‘l'ﬂfﬂf‘.'qfal/?lgﬂ.:/‘;GrUih/i(‘Mlg ;JJIM Edhw E..arl?:@ E -
E 5 : ' Judicial : |
13, Which is the most ancient source of law? ' Customs i Religion ' Parliament  :Decisions O O O O
e Ul e Kb s bl P ; L3 : ]
According to which school of thought ' -
“liberty” is a gift of law?  Individualists ; Communists : Socialists : Collectivisits !
14, ) ) H H
Sl Syt GO LIS V.,,u/: b L adedl A AR : o 0 O O n
- What percentage of total population had the i ; ; ; ; .
status of citizenship in the Greek city ! ' ! ' : .
15. States? i 10 20 130 140 ;
g bz oo sl ERSATS UM Pt | ; ; ; ; © O O O =
Which country has, natural born citizen as a! ‘ ' : :
compulsory condition for becoming the: : : : u
16. President? :Japan ;India ;Canada EAmenca 5 O O O O )
St S S u‘g_L‘Cé__j,wu:J‘/ Lokl e s 'L |
What is called the fundamental law of the !
? i , i H H H
17, State? : Draft :Ofdlnance ,Constltutlon :Customs : O O O O B
WS L o LA T o ; ‘
When was the American constitution -
') 1 ] ‘ 1 3 .
18, formulated? E 1769 A.D 5 1779 AD f 1789 AD : 1798 A.D f O O O O
ﬂfw_/u*nf.f/n-,nw 141779 ,1789 151798 : ]
In a despotic government the public opinion ' : ; : : ]
is changed through the use of: : Force i Performance : Vote i Education ¢
19. . . i H ‘ g
S bllse 25U SLUGIF S P T | 0 1S s e ; © o0 O O |
In which country there is a system of =
compulsory voting? » Germany i France :Brltaln ' Australia : -
20. ) . . : ; :
PR AV TR VAN LS .y ;:_) ‘ o o0 O O -
—1HA-Il 2326-3261 — .
\ ROLL NUMBER
|
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CIVICS HSSC-]

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any two guestions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and {egibly.

SECTION - B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 3 to 4 lines. (10 x 5 = 50)

(i)
(if)
(iii)
(iv)
(v)
(vi)
(vii)
(wviii)
(ix)
(x)
(i}
(xii)
(xiii)
(xiv)

Note:

What is the role of civics in the success of democracy?

Write down any three functions of family.

What is meant by Nationality?

Differentiate between state and society.

Write down any three salient features of sovereignty.

What are the piliars of sovereignty in Islam?

Write down any three functions of judiciary.

Write down any three merits of democratic system of government.
What is meant by law?

What is called equity?

Differentiate between natural-born and naturalized citizen.

Write down any three basic duties of a citizen.

Differentiate between an evolutionary and determinant constitution.

Write down any three conditions for sound public opinion.
- SECTION — C (Marks 30)

Attempt any TWO questions. All questions carry equal marks. {2 x 15 = 30)

Q.3  Write down in detail the concept of nationality in Islam and its basic principles.

Q.4  What is meant by parliamentary system of government? Describe its important merits.

Q.5 Whatis meant by public opinion? Describe the important sources of its formulation.

(10x5 = 50)

(2x15 = 30)

(501-:') gﬁ)f 33 e
-uf-" 2398 KU pr ok Li71(10) Siedfe Ll pisr Ay

e e Lo (i) Se SRS e ean? (i)

S GA e fosteds (V) S et (i)
S o LEmiten (Vi) el s S S e (V)
NS S f B (i) A F e BILde (vil)
sl (x) e e wdf (X)

A oE LS (xi) e GRS AL E A e ()
S 2SS e (XiV) e AL T TS5 (i)

(30~ J’/)fr,._/
(-u!/,l/./.j Lu)lr(l?-ggd' Jbﬂuc—éﬂ
By RSB Luimeed »beu Ay
U uy.uyjﬁ:f Sest pf PPl Al
I uy.ém(‘léd:@ SUt et pe bty 18 Ay

—— 1HA-Il 2326~——
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EDUCATION HSSC-I

SECTION — A (Marks 20)
Time allowed: 25 Minutes
Section ~ A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed.

Do not use lead pencil.

i SN LI LIr LS p oS et 7251 lin L4 S0 20
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@ Q@ © 6 @0 0 6
©@ 0 © © 66 @0 6
© @ @060 0 ® 0 0 e
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Answer Sheet No.

S foernd LS L s £ iy . INVigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

@ Q00 ® 00 e

©)

| Question wi A | B | € 1 Db i A]B]cCc| D]
g E ‘Harmony | !
: ‘between
: i Transfer of 1action & :Changein !
The word Educare means: ‘learning ‘To bring up  reaction 'behavior ! O
?w@’gﬁ.“ﬁducare"}.félkﬂi&j(;ﬁu EL& Uss :Ldjuuld" :(}‘.Afd:e-ll E
a a fpoes | z
According to whom education is a “Search of Allama Igbal | :
truth™? 5(&”%) iSocrates iJohn Dewey iPlato O
te S A0 LU i e s il :
: 'Hazrat : f :
; ‘Muhammad E :
: 1Hazrat Adam i(»lus-éc) ‘Hazrat Noah :Harat Ibrahim
Who is first teacher sent by Allah (#58)? | (64) Haife) :(Mz) § O
S g L e o A i e
| B T s a
| e § a
. i | | | s ;
What is the 1Q of a dull child? 1110-139 190-100 80-89 170-79 : O
S bl AU L5 L : ! : !
1 Scientific ' Latest
The most authentic source of knowledge is: research- 'technology ‘Philosophy  :Revelation O
- ')4'/5/:‘":.-_.‘/5&?;6::l/ :J.JLC;» E,Vb 5(55 :
fEnvironment,
: ; ; ; 1school & 5
In forma! education, a child learns from: Environment School ‘Media ‘Media ' O
Te%cd“{dﬁ“({;iidit 3J:C E.»l;dl/) sgl/iul d}cxdil E
i | é - .
Literal meaning of course is: iPath inght élnstructlon éGuidance O
S S Lo I el L ;
Page1lof2
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O O

¥ ~ gl L

..c‘_&n‘ V:ﬁu:u:{)/;lu/)

l Question Jir ! A B c D A I B ] c l D |
8_' Motivation is a/an state. iEmotional ';Mental §External glnternal O O O O
e Ny an’b* g iy e
. How many elements of education are there?;2 ] 14 ‘6 O O O O
?uj/b’&f&ﬁu;» Egj EJE Eag
Interest and attention are of
10. learning. iLaws EPrinciples 1Equal ETheories O O O O
- LIS s o9t i Lot U sy
11. The development in boys and girls is: Different :Organized iContinuous :Parallel O O O O

Biggerthan !Aunitofa !Separate i Group of

: 'O 0 O O

dv

12, Community is: isociety - isociety +from society :ipeople O O O O
- & e S EJI(I..{IJ;/‘V Em{‘:_g/"lr Lo iUy '
Elementary education spans over :
13. years. 2 L4 ' 6 ;
e b s | ; ; ;
The quantitative aspects of the process of | : : i
14. evaluation is called: tEvaluation  iAssessment :Measurement i Performance : () (O O O
e Sk LS Lede | it e LK
According to whom, curriculum is a : : 5
collection of activities to speed up life : James E ' Frank
15, experiences? : i Michael Lee :Mead i Paul Hurst  : Musgrove
¥ 0 A f L size o ¥ S p O LT IFAUE Ly Es‘//ﬂJ.& Ln P )
s | s |
16. Who is the founder of Directive Counseling? Watson §Williamson éKohler éCarl Rogers O O O O
?QU/&LK&»&GLMEM!; EJ#J E)il( E/'Zbd/(
In which year was the textbook board
© 17. established in Pakistan. 1 1959 1 1960 1 1962 1 1963 O O O O
it I Ot | ; i ;
| Positive ‘
' gchange inan | '
‘Personal !individual's : ' Increase
18. The basic aim of education is: i satisfaction {character  :Geta job : knowledge O O O O
?‘a_b(w‘;‘d‘v.l'&{(yi df-ﬁ‘(jli :;,»‘*'JI/I)/LJ) E.:/JIJ'(J:" E JUIU.‘.'H‘

{ Leadingto | Helping in

19. Literal meaning of Guidance is: « Facilitation path » problem Direction O O O O
oy AL TN VRN Y S SN A f ,
a Human § |
20. What is the “Ultimate Reality"? ' Universe ' being ‘Allah (#5%) Knowledge ! O O O O
Sl bt dP | ety L ey

——1HA-Il 2327-3271 ——
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EDUCATION HSSC-]

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 50)
Q.2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)

0] What is meant by Education?
(i) What is meant by professional education?
i) Describe the coordination between environment and inheritance.
(iv) What is meant by Epistemology?
' v) Write any three responsibilities of teacher in case of physical differences among students.
(vi) What is meant by principle of similarity? Briefly explain with example.
(vii) What is effective teaching?
(vii)  Differentiate between society and community.
(ix) What is meant by competence change in an individual? Briefly explain with example.
(x) Briefly explain in;directive counselling.
(xi) Write a short note on a syllabus.
{xii) Describe law of effect with an example.
(xiii)  Enlist the basic functions of education.
(xiv)  What is educational guidance?
(xv) Highlight the importance of “Attitude” with reference to educaﬁon.
(xvi)  Write any three Islamic foundations of education.
(xvii)  What are the political benefits of education?
(xviii) Write down the characteristics of learning.
(xix)  What is individual counselling?
(xx) Write a short note on self-awareness.

(xxi)  Briefly explain ‘teaching by doing’ with example.

b. Attempt any ONE part. {1x 5 =5)
(i) What are the characteristics of a good text book? Give opinion.
(i) - Differentiate between formal and non-formal education.

SECTION — C (Marks 30)

Note: Attempt any THREE questions. All questions carry equal marks. (3 xA10 = 30)
Q.3  Explain ethical or spiritual aims of Pakistan's system of education in your own words.

Q.4  Describe the principles of development jWith examples.

Q.5 Highlight the components of curriculum in detail,

Q.6  Explain the theories of learning in detail.

— 1HA-l 2327—
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Ny o P (O1)Jtc.u*u-(wm(1 5)ss sty o330 [ 24, d(dliuf if wc.»,«sj‘_,uiéuuwérmfr»y W
A w_rZ btz LTSS ey (03)ef s

(50/-»’} J”)(’”..«"

(15x3 = 45) .g.‘.'d A 2396 £ )végc.uf L7215 sl etk g snr i ¥ iy
S e amzy (i) e e ()
e P (W) ST AU n Lt (i)
S el JeS sl p captdrl (Vi) N Uik §S St e febBid: (V)
SIS LE L fon (Vi) st p e iy (Vi)
Gleobsfentduad (%) S et sV edwdlets)  (iX)
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Answer Sheet No.
Iy hmemndb LIS Ly 2 LYy, INVigilator Sign.
. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
@ | auestion . A | B | ¢ i D iA]|B]|c]|D]
. There is-no conclusive evidence of palaceszoman ' Greek 'Gandhara 'Indus valley E ’
1, ortemples in: icivilization  icivilization  icivilization  icivilization O O O O
. _Jl'uﬁ'u! ] o w(f&)i’éuﬂ{uﬂ/ﬂluw wedf$s :».,z..l?ab'g’ 3;/,.4{“ o il EVMJD,VU'JI: E
2 The base of the lion capital pillar was of: ;Rose flower :Sunflower Spiral design :Lotus flower O O O O
.- Brie  oysker SEIIALE AL ek LS
. Shahbazgarhi rock edicts are in ; ‘
script. ‘Brahmi 'Kharosthi ‘Pali 1Gupta '
W P AR i [0 mn 1 O O O O
| s | | s
] The building where Roman warriors fought: -
mortal combats is known as: iAmphitheater | Theatre iAqueducts  :Stadium '
(] 4wy e eguke S b E g e i/’?dft H? E_/;ufl '(’ : O O O O
, o) i | | E
- In Roman Thermae, the hot room containing;
warm water for bathing is known as: ETepidarium EFrigidarium ECoIosseum ECalldanum |
B2 et S L L g ,Ja./‘/u'(/zs(f sk ¥ s E o O O O
- oo | s | a
Houses of Neolithic period were built with; : : , : :
_— roofs. 'Flat ' Pyramid 1Dome shaped: Cylindrical E O O O O
n bt p__ U S0 A tm Neolithic i i i e ;
- The city of Babylon became the most; ; 5 5. :
7. powerful city in time period. -Brls Nimroud ,Hammurabl Sargon Ashurbampal ! O O O O
. _G/’Zy;/&;lufwé fﬁ)’@ ' »A AL : ilsn ' u”zl/ ! dtdhrl ;
Athlete sculpture of Myron is: :Augustus 'Discobolos  ;Nefertiti ‘Rameses :
8. ' . : :
. /_,mymu,/ LT W Ny Ut : o 0 O O
. 9, The wife of Rameses-ll was: ;Atl;lena ;Maya ;Nefertan ' ?Yasodhara O O O O
= 5 (t6 £ (Rameses-1Dpnu s s i LSF s :
- Parthenon was dedicated to the goddess of: EWisdom sLove iBeauty EWealth E
10. Pl : e A :
. -lirlg(f_,r“.—_dg;{ /(Parthenon)u"-/JgEJ; e idu‘-’f EJL E O O O O
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Time allowed: 2:15 Hours

FINE ARTS HSSC-I

Y8

Total Marks Sections B and C: 40

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 24)

Q.2 Answer any EIGHT parts. All parts carry equal marks. (8 x 3 =24)
(i) What is meant by the term ‘Prehistoric'?
(ii) Describe ‘Megaliths’ and ‘Cromlech’. '
(iii) ‘Give geographical location of Mesopotamia.
(iv) What were the major contributions of Mesopotamia?
(v) What story is tdld by the Narmer Palette?
(vi) What are the main aspects of Indus Valley civilization?
(vii) Explain the seal of “Proto Shiva” briefly.
(viii)  Why are the Ajanta caves famous?
(ix) What kind of sculptures were made in early classical Greek period? Give one example.
(x) What was the purpose of pillar of victory? Give an example.
SECTION — C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x8=16)

Q.3 Romans used different types of wall decorational styles. Explain these styles.

Q.4  Write the subject matter of Greek Pottery with special emphasis on Corinthian Amphora.

Q.5 Describe the salient features of Ishtar Gate.

(8x3 = 24)

(2x8 = 16)

(241-5") J/)KI 93 e

s L B S u2(08)#T S e ks i
el pif e CromlcchuQJK/;IMegalithsujJ g (i) Sl e Prehistoric' Suw 41! 0]
Y S F b Mesopotamiale’yst (V) - ke IO 2 Mesopotamial s (i)
GBSO L i Seits (Vi) te 0SS5 SPalette ek f ot (V)
el P asSusklial (Vi) S eolos§ 2§ (Shiva Proto) 1595, (Vi)
LGS E L b LS S WS Lz (iX)
e LU s d;w/:" S Pillar ofvictory”u}"‘éi (x)

(160 F)fr o
(-w/,l/,f.;éu.fl‘}’rp-ér{gf Jlr»c_élrj

S wolsSug L S S L L AT s

_u:,,v o 4Corinthian Amphora {54 uf S b lor? s CSiecds S by

U el Ui d
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Answer Sheet No.
-q/4 fp/’bu»&flb/ﬁﬂf/:éié.;&lxﬁdlrﬁ Invigilator Sign.
-Fill the relevant bubble against each question according to curriculum: Candidate Sign.
|Question Jr A B . c D A I B | c I D |
Physical
Structure of | Study of
Geology deals with: Solar System {Human life  |the earth landforms
‘e Jwb’d;‘k u’}(lbr JA‘/‘&UI &VJ&JU:J S bl O O O O
What is the shape of earth? Spherical Oval Oblong Geoid
2. ..
ses? PG| 7 S i O 0 0 O
At which angle our earth is tilted? 1° 1° o o
3, 23— 66— 60 90
v‘QJmff S kil 2 2 o O O O
Sedimentary ;Metamorphic
Basalt is an example of: Igneous rocks {rocks rocks Sand stone
4. a5
e JedU vl T UG Uit il 0O O O O
Mechanical |Chemical Biological
5 Exfoliation is the process of: weathering {weathering |weathering |Erosion O O O O
..q.d’ Kl znny . Jb’g .:Ji/.“»ﬁf Jy{ J &L;“L’ o4 ' ‘
d/:aﬁ/&v}
Planetary Seasonal Monsoon
What are trade winds? winds winds winds Local winds
6. : -
SV nd A | S s Sinf » | Smgryr Singe O O O O
: Atlantic
In which ocean is Gulf stream found? Pacific ocean jocean Indian ocean }Arctic ocean O O O O
| Qb AUl | o2 N wf et s
Page 1 of 2 | 5
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| Question i A B c D AlB|c]|oD
Those lines which are joining areas of equal
temperature are known as: Isobars Isotherm Isohytes Isopleth O O O O
S bl U U E WS U d s £ 7 5L 2 m | Ao b cd fifhesd | Bhglasp LT
The portion of the ocean floor close to the{Continental |Continental |Oceanic Oceanic
land is known as: shelf slope deeps plains
9. . PR .
_+rM g_r(ggg._fjéug‘ 22036505 dv;u‘” I uua’su” I WSS larSaue O O O O
Yardings are the landforms made by the Underground
action of: River Glacier Wind water
10. N .
. 2USbssimeiA b It dheties O O O O
What is the lapse rate of temperature per
thousand feet above sea level?
11. 3.5°F 4.5°F 5.5°F 6.5°F
?‘g_l‘f/lﬁ'JJJ:—A/;»{,UAJ&;I};;/Vé/ O O O O
Which gas found on the surface of the earth
plays an important role in chemical
weathering? Hydrogen Oxygen Nitrogen Helium
2. . ) ,
S"g(}fbl/b/ﬁlLﬁ&r}fd:_b{uﬂfdu/dbdlgéglvgﬂic’ Pt ;f"jf WY gt O O O O
Which process is responsible for formation
of sedimentary rocks? Erosion Deposition Weathering Volcanism
13. 5 .
?c‘_ﬂﬁ,.ajd'itxuftﬂé"_.éujl‘@zb,ﬁ? SWJI gﬁ)q?f :Jiu:/éf JBIT O O O O
At What height is atmospheric pressure
reduced upto one inch? 600 feet 700 feet 800 feet 900 feet
14, L. . p p
?.?,axdugf .,Fér,{:u:fpédrm'//,dxw’ L3600 23700 L3800 23900 O O O O
Underground
Fiord coasts are the landforms of: River Glacier Wind water
15. , -
S Bl S P s i £ In dyerizi O O O O
Andes mountains are found in the continent North
of: Asia America South America { Europe
16. )
?LLYngL!;nyl/,‘jfz_igh/ .l./’f.i L0 .,_,(/Id}? -t O O O O
Which sea of the world is situated below
sea level? Black sea Dead sea Arabian Sea |Baltic sea
17, .
S‘q.du{'_.;wrf.,.ivufwy) syl Jl)/a/f *4/0/..5 bgtbj..s O O O O
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GEOGRAPHY HSSC-I

Time allowed: 2:35 Hours | Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 42)
Q.2 Answer any FOURTEEN parts. The answer to each part should not exceed 3 to 4 lines. (14 x 3 = 42)

U] What is the result of vertical rays of the sun falling on the tropic of cancer in northern hemisphere on
21%t June?
(ii) What is meant by human geography? Also mention any four branches of human geography.

(iit) Enlist different factors affecting the temperature on the surface of the earth.

(iv) What is the difference between hydration and hydrolysis?

v) Write a short note on metamorphic rocks.

(vi) Briefly describe different types of destructional plains.

(vii) Write a short note on the Dome Mountains. Mention the names of its types as well.
(viii)  Write a short note on intermountain plateaus.

(ix) Differentiate between Kames and Tills.

(x) How are meanders formed? In which stage of river these landforms are formed? Elaborate briefly.
(xi) Briefly describe different types of Fogs.

(xii) How are deflation basins formed? Explain briefly.

(xiii)  Write a short note on mohorovicic discontinuity layer.

(xiv)  How are striations formed? Briefly explain.

(xv)  What are the similarities of Polar winds with Trade winds?

(xvi)  Wirite short note on cumulus clouds.

(xvii)  Enlist the names of elements of physical environment.

(xviii) What are. the internal agents of change working in inner portion of the earth?

(xix)  Which are the essential factors for affecting solar insolation?

SECTION — C (Marks 26)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 13 = 26)
Q.3 Describe in detail the formation of different types of igneous rocks.
Q.4 Write a detailed note on the ocean currents of north and south Atlantic ocean. Also show these currents on map.

Q.5 Describe the erosional landforms made by wind.

— 1HA-II 2330 —
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= Answer Sheet No.
» | -
gy fmerndp LIS L e Ly, InVigilator Sign.
. Fill the relevant bubble against each quest'ion according to curriculum: Candidate Sign.
® T auestion ' o A | B { <¢© { b i A|lB]c]| D]
. What is the distance of “penality kick mark”: : ’ :
from goal line? (for boys) i : : : !
., 11 yards 112 yards 110 yards 113 yards '
a P B G o udT Y ; y g g ;
L What is the height of “goal post ring” fromé o O O O
in netball? (for gi | e | e |
@  groundin netball? (for giri) 13.80 m 3.05 m 5,03 m 3.50 m ;
(Mt o B )Ly I L SE i ; ; ; ;
- | z e e |
Who said, “Physical education is a part and: ' '
. parcel of education, which makes an: H b ; :
.Z individual physically fit, mentally alert and; iCharles iCharles A- !
social well related™? iLemann-F  iScoretes iBrown iBucher :
IR RN EW VAV P AT T2 NVl P TR 41 o e Yy © O O O
n S ST e bbb i (UGl il | § '
B Fow many chancesitries will be given fo: : ! : :
each athlete in shot put if participants are! :
more than eight? i3 14 5 6
.3‘ u.?&};(d‘f:(d/'U;ﬁ;no)L}LZTJIﬂJUZ'}Mﬁc__’_Lg)fidf E/k Eé& E,: ; O O O O
= b z | i ;
. Where does blood gvet purified in human: E : E :
body? 1In lungs tIn veins !In arteries  !In capillaries
L te rufBeefust? &U!::utu%ff LUk HAUAS Y By ; © O O O
L f i i f i
The diseases which spread from one person: i i ; E
B another are called diseases.  :Curable iDangerous  :incurable 1Infectious -
.5' Sk nJ":/gui‘J?L./”cJ"’.de/k;.&vEewJG E\-ﬂ)‘} 56[1&0 id}’:‘ E O O O O
’ -0’ : 5 : :
. ; : ;
‘ Who keeps the record of “Time out’ in: : E ‘ :
volleyball? : Captain i Scorer ‘Refree iLine Judge |
. ?%muﬁjﬁz("bul’récvu:dfdgdbEut{ su;ﬁ Ed/’;f, E(;/L/’IJ E O O O O
[
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| Question Jir | A E B 5 c 5 D i A | B |l c|oD | -
| 2 s | | |
7. How many bones are there m_a huTan fogt. {36 33 126 123 : O O Q O .
surdnuid’ UL, ; ; i E B
What makes the human body flexible and: } ]
strong? ‘High jump  :Gymnastics 'Low weight :Hiking :
8. < . ' ; : : : : ‘
?‘;db.d,p;,wgf(’-du%m .fuav?(,{;l N4 :w},{ :..ffﬂ : O O O O -
What is a fracture called that also causesiGreen stick ECompound iSimple
9 wound? ‘fracture 1 Spiral fracture ! fracture ‘fracture ' O O O O .
s irs B Eodd  (Fun I iFa 5 a
What is the length of “change over zone” in! E : a
? ‘ ' ; H H
10. Relay Race? ) ‘ :40 m :30 m :20 m :10 m : O O O O .
Ce WIS WL o i) 240 {30 %20 L #10 g
If wealth is lost nothing is lost, if is |
11, lost ev.erythlng is lost. ' 5 Job Education Fame Health O O O O .
_Q,ﬂ(ﬁf:}.L/; ;l;t'lolﬁ.{ﬁ&(o&.‘:)»ﬁ ' d/(! ' (5"‘7 ! \:.«/;5 1S ! .
What is the postural defect called if the ! : ' :
shoulders are bent forward and chest | : : : n
presses inside? : Flat foot : Scoliosis ' Kyphosis ' Lordosis ,
12. ” : ' H 1 )
i Bl S LT 2 S A ST S 6 Ul LA yals A ; o O O O ]
fe b | i E E E .
- ) a U P PV PN
13. What does the word Leisure mean? : Consumption : Busy 5 Spa.re time 5 Ref:reathn 5 O O O Q .
‘-’:T‘__\_fm""(f((Leisure)/ﬂﬂﬂ =y ety ey oy ! .
The word objective is derived from which E : 5 .
language?  Latin : Arabic ' Persian : Urdu :
14. ' : : : :
te sty Cobjective) HE4T 1 | (2 g b s ; ©c O O O n
Physical education is a/an part of | -
1s. education. . EVery small EUnnec?ssary Elntegral ETemporary 5 O O O O
e e i L s sy Lo 5 -
What is the incubation period of chicken |
i ? 1 14- ' 920- 7. Q. |
1. POXin human body? ) o 14-21 days E20 31 days E7 14 days 38 16 days i O O O O
S bnlfecl p AKBIA LTI 2114 P 3120 D14 D816 ; n
What is the basic unit of living organism E .
called? i Plasma ¢ Cell  Oxygen : Blood :
17. . ! : : : :
surel LIl Lase | b P 5 ST P od ; O O O O -
——1HA-I 2331-3311 — .
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HEALTH AND PHYSICAL EDUCATON HSSC-I

Total Marks Sections B and C: 68

NOTE: Anéwer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 42)

Q.2 Answer any FOURTEEN parts. The answer to each part should not exceed 2 to 4 lines. (14 x 3 = 42)

Note:

Q.3

Q. 4

Q.5

(i)

(ii)
(i)
(iv)

(vii)
(viii)

{xv)

(xvi)
{xvii)
{xviii)

(xix)

Write a short note on systemic circulation.

How has American Physical Education Association defined “Physical Education™?
Write three reformative exercises for Flat Foot.

fn what conditions the “Direct free kick” will be given in football. (For Boys)
Write a short note on “centre pass” in netball. (For Girls)
Briefly describe social activities in recreation.

Explain “Runway” in triple jump briefly. (For Boys)
Explain briefly the “circle” of discuss throw. (For Girls)
Write any three symptoms of cholera.

Write any three objectives of health education.

How does physical education help to become a good citizen? Explain briefly.
Write any three warm up exercises for gymnastics.

What are sports injuries? Explain briefly.

Write any three service fouls of voliey ball game.

Write a short note on bad posture.

What is meant by complicated fracture?
Write any three characteristics of leadership.
Write a short note on protoplasm.

Write any three symptoms of fracture.
Briefly explain the importance of first aid.
What is meant by sprain? Explain briefly.

SECTION — C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2 x 13 = 26)

What is meant by “First Aid"? Write basic principles of first aid. Also explain the new method of treatment “RICE”

for injuries.

Draw a sketch of football court along with its measurement. Also write the free kick and its types. (For Boys)
Draw a sketch of netball court along with its measurement. Also write the duties of umpires. (For Girls)

Write a detailed note on any two of following topics:

a.
b.

C.

Scoliosis
Respiratory system .
Relation between Education and Health Education

—— 1HA-lI 2331 ——
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Answer Sheet No.
_¢/4£;r1;/1;&wZH;U‘ZQ_;&;VLJ:M Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candldate Sign.
| Question oo A | B + ¢+ o ialBfc]|D ]
What was the name of library founded inAlexandria  :Pergamum :Assurbanipal !Bait-ul- T
1. ‘“Naneva™? ilibrary library Hlibrary I Hikmat i O O O O
S RS LAV S E LA LA A I e L
_ :Latin | Greek ‘Roman ‘French [ .
The word “LIBRA” has been derived from: :language ilanguage ilanguage llanguage 5 O O O O
te i (LBRAY 258} oty { ity oG . PNy '
) ; 1lbn-e- i 'Naseer-udin :
.3_ Who invented paper? 1 Tsai lun :Nadeem 1Calimachus  Toosi 5 O O O O
St LU pbilai ik wddl e LR : A i ,
Which one govt office is responsible to: 5
- preserve National documents of the;National ‘National i Cultural :National Book:
4. country? ‘library rarchives ‘heritage Foundation O O O O
L PO P O M B A Uy i L6 B8 ST FETNA
.5. ‘Silver fish’ worm is found in: . iSea éRIVEI’ EPonds %Book 'O O O O
?;_rtgggul{ﬁ[dcdul’:/,w o tolt g '
. |Alexander the } ; | ;
Who established Alexandria library? ! great ‘Hedots ‘Ptolem { 'Anstotle : O O O O
6. 9 1 ‘ .
. ?J(’L?LJJMU,»@ | f”'wfo T : J,Ufi"f i)"/’ j
‘lbn-e- : 1Cornard 5 :
B, Who is called the first bibliographer? iNadeem  {W.H. Philips :Gasner upBema L Oy O O O
- WG A1 b e LA | | Jeasha :
Which type of writing material is used by the' ! E
.8. Egyptians? ‘Clay tablets :Parchment :Vallum iPapyrus } O O O O
w_/dw,w/uuww ity =2 e Eu}u?.
.9 WhICh is the oldest civilization of the world? ! Sumanan EBabiIonian EEgyptian ;Greek O O O O
S SIS S o s n. E '
. ‘Raw :Randam iRandom ; i ‘
Abbreviation RAM is stands for: . .Arrangement 'Access 'Arrangement iRare Access ! O . O O O
. fe i (U1 RAM! of Material | Memory iof Material  :Memory '
Which component of the computer is called: : i E §
brain of the computer? i Plotter ‘Monitor 1CPU :Printer ; Q O O O
ki (2 S L ol Ly g 4 |
Five principles of library science are: ' iDr. Anis ES R. f :
12, introduced by: :Melvel Dewey : Altaf Shoukat | 1 Khurshid «Ranganathan | O O O O
LSl Jﬂégéu” VLA S ;Jyuuzn i gmﬂ Y.L L T YT
—— 1HA-I1 2332 ——
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4 | 5
LIBRARY SCIENCE HSSC-I 7

‘Time allowed: 2:15 Hours Total Marks Sections B and C: 48

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly. '

SECTION — B (Marks 30)

Q.2 Answer any TEN parts. The answer to each part should not exceed 3 to 5 lines. (10 x 3 = 30) |

Write a short note on importance of Information.
Name the columns of accession register. _
How many kinds of index are there? Describe each briefly.

(
(i
(iii)
(iv) What is footnote? Write briefly.
v) Write down the role of library in research.
(i) What is meant by non book material? Write down the names of three non book materials.
(viiy  Write a short note on “Incunabula”. |
(vii)  What is “weeding"?
(ix) Write a short note on “Fumigation”.
(x) ©  Write a brief introduction of National Library of Pakistan.
(xi) Write down a few lines about Abstract.
(xii)  What is meant by the term “Binding”? Also write how many kinds of Binding are there?
(xiiiy ~ What is the difference between Parchment and Vallum? '
(xiv)  Write a short note on library of congress.
SECTION — C (Marks 18)
Note: Attempt any TWO questions. All questions carry equal marks. (2x9=18)

Q.3  Write down the story of writing from Pictography to Alphabets in detail.
Q.4 What techniques are followed in order to develop the habit of reading among students? Explain in detail.
Q.5 What s Bibliography? Write down a detailed note on kinds of Bibliography.

'(301—."; f )(4»,_.»4’

(10x3 = 30) I iz Eus prpef LAB(10) e bS e thizisr iy
LKL nccession (i) S em ()
e Foomote) 2 (V) oo 2L TS (i)
W AL QS St p sty §UE (Vi) G s SES LA Cf”; v)
- el e Weeding  (Viii) -u:"” oy /,.‘U!,L‘;;G # (vii)
-ﬂg,wf?guuggfg,/uﬁ' () m;fz;%? £ (ix)
S G P ek St W e oSSl (i) A uF v gabsiact (XI)
i g PTG LA (xiv) S G i (i)
(18~ F )
(2x9 = 18) (tdnr Ludr - irne D

S S EE 57 e SIS A iy
I e S el i b L Lo e GO N o Al
BYY P ek 1 s s PRVEI P Y VI
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Answer Sheet No.

Sy ol LS L s L1y, InVigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

| | Question Jir | A B LC D A | B | c [ D]
Which colour denotes life, spring, and hope? Green iBlue iPurple iRed O O O O
?é_l‘;_)(t}.;{glulul,(:gfﬁjual/uﬁf ilk Eu’( EJU E
is an infectious disease. Cancer iHeart attack gFIu §Anemia
e Skl P B |57 {JJus o O O O
By taking rest, effects of can be; : : i 5
minimized. 'Noise 'Frustration  Physical work : Fatigue
3. - : N : o ! .
WS e detF P T RO 74 : ©c O O O
The colours of eyes, hair and skin colour§
. cjharac.:terlstlcs are affetcted by: . iEnwronment EHeredlty ER~ ce ERehglon : O O O O
it Sl o F 6 WHeF TR L=l & bt '
- ! e | | |
Burnol is used for: EPulled muscleEFracture EBurned skin ESprain
5. . : v e : : :
—e-Umiry Jisi engs L 1o L e 1oy © O O O
Whichi of the' following s “an’ élement of: -
ian? . ' ' 1 ol ¢ )
6. design? o EBalance EProportlon iLln'es‘ E}-!armony O O O O
e G e Uil | il [ e :‘ﬁn’ 7 '
: : ; i iSpeaking
7 One can save oneself from fatigue by: EWorklng hard EConversa’non ETake rest Elo_ud ; O O O O
tePopde o Lleney (Lfepe lede ted g ,
. E iTime, energy !
Budget can help in using efficiently.  Time ‘Energy ‘Money and money !
8. — ! [ : ! . :
_%CC/(»UCL/JW/I c-?.’_-/’é‘&f E Kx ) e 5/; ) S N PR)) i O O O O
Page 10f 2 |
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‘ IQuestion Jir ! A B c D EAIBICID|
o E ! ; ! :
9. How many types of burns are there; ’ 5 i6 3 4 O O O O
?ﬁrlﬁtd’ﬂfﬂéé@;@g s 04 e ' :
ltems for everyday use should be kept: EVery fow 'Hidden ERight in front |Far ahead |
10. . H , 1 '
=y SWASIE e p31s) &t Py 2wy ) Lt ! o O O O
During phase, physical growth is!Early iMiddle
11 slow. ) ) . Echlldhood Echfldhood EAdoIescence ilnfancy O O O O
-c[‘..dﬂ:/(ﬂ /U/Jlf’)”db’?i q}ﬂ(jli:l EJJ)dL//JLU,f' i Y EJ/L?/” E
In - upbringing of children unnecessaryi §Should be | :
interruption: ) iIs very useful {avoided 'Is a must ‘1s helpful :
12- ] Ll 1 Ll Ll
:JJJ;@;J:JJ,4Jui§ 3 Gl E _.L‘.gl:/}l}“'l:. E <« Ui E ‘a/b'u E O O O O
Which designs are usually created byi
H HY ? 1 i 1 [ H '
13. individuals? ) o El:lafural iAngled EAbsﬂtract EGeometrlcal : O O O O
e LGE bl Figsewd 305 gl 7y Ny :
Resources are of types. 12 '3 14 '5 ;
14. ;o4 . : g :
-wZnlt Sentus s et L 16 : o o0 O O
' Wasteful | 5 ; ;
1s. The habit of saving is a sign of; . spendhlng ' Simplicity ! Rich ! Bﬁdgetmg | O O O O
el cifaf i E/UP 6 b '

G

——1HA-II 2333-3331 ——
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OUTLINES OF HOME ECONOMICS HSSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)
Q.2 Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. {12x3=36)

(i) How can harmony with furniture in a room be created?

(i) Why is it necessary to have a First Aid Kit at home?

(iii) What is Double Complementary Colour Scheme?

(iv) What are the advantages of saving?

(v) Describe the term ‘Fatigue'?

(vi) How is a patient treated at home?

(vii) What is the importance of evaluation in management process?

(viii)  State the importance of storage at home.

(ix) How a child be guided to get rid of the habit of bedwetting?

(x) Enlist the characteristics of value.

(xi) What is meant by family income?

{xii) Differentiate between structural and decorative design.

{xiiiy ~ What are the types of goals?

(xiv)  Write down the ways of work management. .

{xv)  What is the difference between Tint and Shade?

(xvi)  Describe the methods of storage of winter clothes.
SECTION — C (Marks 24)

Note: Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3 Whatis meant by time and energy management? Discuss which steps can be taken for better utilization of the
time and energy in a better way.

Q.4  What are the basic principles of child guidance? Write in detail.

Q.5 Briefly explain art. Discuss the principles of art or design.

(36/—r‘l J/)fu._«"

(12x3 = 36) P it B iy La2i(12) ke S e ks 0 g
S pULE S i (i) \wES L ST fide ()
Gl Les (V) e et BT A (i)
e FedLrS b S 0 A (v) st fe® (V)
LSttt SSG A (Vi)  Seeat§ser S Logr (Vi)
LIt dd (X)) wEbeP U el (iX)
S GRS b (xil) S e b ()
FEILLIF (i) I (Xiil)
-U:J BHILESsF e L8 (xvi) S O/ U Esez (XV)
QA Iy s
(2x12=24) a2 Loty B S Jrne s

Y Z_‘gbd,:(kfc_ %}ﬁfrgﬁofjui-/dl«’?lé‘Kafnl\.":’:c.,u JU%(J_/L;}EQ&UJ?(“_Jl/gLJW1géﬁa}ulﬁ:’) :f’ﬁ}dl/
Sy s Ui LS us o Ay
S I L e S eoles &7 S 7 04 1y
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Answer Sheet No.
.- Gy femernd LfES L2 L)y, InVigilator Sign.
Fill the relevant bubble against each question according to curriculum:  Candidate Sign.
B T question o A | B | ¢ 1 1o iA]B]c]|oD
- ! iPost Modern
, Al-Kindi is a philosopher of which period? iGreek Era  :Middle Ages 'Modern Era :Era O O O
-' ‘.'f,&ﬁlfwcjfd,«ﬁu»dt{ EL}/;,.:’/'I Ew)_;g E/ YW E
! What is the subject matter of logic? EBeauty gKnowledge EThought i Doubt ; O O O
-' e LA s F N ;
B Which of the following is NOT a normativei o
7 science? Chemistry  Ethics 1Aesthetics 1 Logic
i' te Bl e tobton L Bt Hellz e E o O O
= | | | | |
‘ considered that religion arises from| ' ! ; ;
| the concept of death. iKant ‘Hegel iHume 'Schopenhaur ! »
. . _é_t‘ﬂlﬁc.zr“’.d:.:«/?z;)u:dgé %h}f{ iu{ﬁ %r);l :JL(/ g O O O
is the third level of religious: A: .
- understanding according to Allama lqba|( ; :
i_ (f%)- : iBelief iThought §Consciousness iDiscovery . O O O
‘ e 8§ A A LYot 651 P bt | ;
n z é | s s
. is the Science of mind and: : :
character. iPhilosophy  :Psychology :Physics iPolitics :
' ' ..cu"la{;b/ul‘f: :,;J i:,_l.)’ Ea?) :h/l/ i O O O
u in cause and effect relationship is
explored. iMathematics :Chemistry gPsychology 1Science ;
.‘ -c‘;.lflg_l_fd_lg/)“/"/(s)}"ulc)uf EUJ.L./ 5.(.’[ :':'.L:"’ :U;V ; O O O O
. The process of expressmg a concept m: ’
words is called in logical terms. i Term ‘Proposition  !Justification :Conﬂsct :
8. — h H h
u el LB S Lo S s L BT | ©c O O O
| Page 1 o0f2 R
|




] Question Jir A

According to Al-Ghazali(24), the function of
a is to explain knowledge through:

f@-

>

o
B
o]

g, thought and vision. : Politician Preacher ' Social worker : Scientist O O O O
cetS ol F e B bk i (i HE ) gy - LA '
is a discrete mental process. ESensation EPerception EIdea EReason 5
10. i ' H . i
By nature is the superior source of
11, knowledge. o ERfaason ETradmon iRevelatlon iE)ipenence ! O O O O
-q._,)'ja'b/'/.:(}lc.,yl?é;r,‘i o S gl vd)s Yo/ )
maintained that universe is made! 5 f : :
up of Nous. iThales ‘Anaagoras ‘Democritus !Leibniz
12. P H h , i
fe e (Nous) b ¥S LY F 21 W Ps V. ; o 0 O O
Hegel presented the trinity of thesis, ! ; E
13. antithesis and:A | ' ENat.ure E[dea ECntlmsm ESy/nthe5|s O O Q O
Jhi Sl BEF bty | 2 B LU g Vud 7 !
1a, Ontology studies: I;B“eing EKnowledge éSOCIety ECharacter O O O O
-‘aﬂgg)ﬂbfg___dq)ﬁ; ! g7 ! r“ : p;iv ; s !
considers the pursuit of maximum ! : f : 3
1s. pleasure or utility as their principle. iRatlonallst + Utilitarian iTradmonaIlst ;Authontanans; O O O O
?witu[dflb;lfd:"L:«;)Gl&:’ﬂugic—uy D el Aol E & mglss ; Pracryivg] :

The English word ethics is derived from theg

Greek word: iLogos Mythos

!Ethos Moros ;
16. . . b, : : :
e P e I Loy Ethics s 82 F 1 oS vl A L ; o O O O
After the mother, the second highest rank is
17, of: 5 I?rother 5 Neighbour | Aunt i Father f O O O O
Yo b 2 Lottt A LN Ly L bt i
Who believed that human reason is limited
and it is not possible to know religious 5 ;
18, beliefs by.reason alone? - ;Asharah ;Mutazulah 3Akhwan EJabarelah ; O O O O
b G2 Sibr G a st QOSBRSS ot oy o0 LA :
s 5 ;
. Haqooq al EAqeedah~e— Ageedah-e-
19, The first principle of Islamic teachings w:: : lbad EAakhlrat | Tctwhld ; Namaz ; O O O O
P WUr 1Kl 5u LI oP D FTon L ToiP L ;
: ' Self- i Social ; |
20. Stability comes from: ) 5 S?If—respect Efulﬁllment 5 jUSTI(:‘.e‘ ETo,Ierance ! O O O O
-q_dyfr;, __.;{)l’(ffl E (f‘.:ff s d)i‘(}f{- E Juld/lv E Slas E
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Time allowed: 2:35 Hours

PHILOSOPHY HSSC-I

[4

Total Marks Sections B and C:'580

o i

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.

Q.2 a
(i)
(i)
(iii)
(iv)
v)
(vi)
(vii)

(viii) °

(ii)

Note:

SECTION — B (Marks 50)
Attempt any FIFTEEN parts. Be brief and to the point in your answers. (15 x 3 = 45)

Briefly explain the importance of tolerance in the light of islamic teaching.
Briefly explain the need of unity in the formation of Islamic society.

Briefly elaborate the Islamic concept of Allah (45%).

Briefly elaborate the beliefs of Mutazilah, Muslim intellectual movement.

What is utilitarianism? State three methods of qualification of utility.

State the hypothetical and categorical laws presented by Kant.

Describe the virtues elaborated by Plato for the establishment of an ideal society.
Briefly elaborate three cases of monism. |

Explain the difference between subjective and objective idealism.

Briefly explain the point of view of materialists.

Elaborate the three levels of certainty propounded by Al-Ghazal (&) briefly.

Is reason the best source of knowledge? Clarify.

What is the stance of empiricist regarding innate ideas?

Briefly explain the role of philosophy in development of science.
Concisely elaborate the importance of hypothesis for scientific inquiry.
Write down any three differences between Science and Philosophy.

Briefly explain third level of Igbal's (&) conception of religious understanding.

State the relationship between religion and ethics.

Explain the thoughts of Professor Whitehead regarding religion briefly.

Differentiate between formal and material validity.

Briefly explain three categories of ontology.

Attempt any ONE part. | {1x5=5)
Write a note on “Universal brotherhood”.

Write a note on the relation between Allah ({§%) and man.

SECTION - C (Marks 30)

Attempt any THREE questions. All questions carry equal marks. {3x10=30)

Q.3 Whatis meant by metaphysics? Explain in detail about ontology.

Q.4 Explain in detail the meaning and scope of ethics.

Q.5 Present a critical analysis of ‘empiricism as a theory of knowledge’.

Q.6  Explain in detail the difference between religion and philosophy,

— 1HA-ll 2334—
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(i)
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Time allowed: 25 Minutes
Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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Answer Sheet No.

S Simeendb LIS L2 LJir . InVigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidafe Sign.

The variable which can be manipulated§

| Question i A i B { € | D Al B]c ][]
If a person has done P.hD in clinical:Clinical : : :Neuro N
psychology, he/she would be called: ipsychologist :Psychiatrist :Neurologist :psychologist O O O O
Lol eSS RIS eI Al et Y et
refers to the direct study of the: | ; ;
individual's own mental process. ! Experimentation | Observation !Introspection :Case study O O O O ‘
_q_»‘ﬂx/i/!slﬂwiwzrlﬁ)))l/a E ,,/,? qu‘/ E(fcf[./«f@qlb Edi‘/u‘-/

(varied) by the experimenter, is called:

O
O
o
O

variable. ‘Dependent  !Independent :Extraneous :Environmental

] .
' ' i

Ty ESbemi s, A2 : & LT . Fa Hdyal ;
is an assumptive solution to the! : :
problem. - 1Variable iLaw i Theory iHypothesis 1 O O O O
P o o i Lo § '
Myelin Sheath protects in the: : ‘ : E
neuron. 1Axon :Dendrites  ; Cell body :Nucleus : O O O O
St NIRRT 94 | R ;
nerves carry messages from the:
sense organs to the brain. ‘Motor 'Sensory 1 Associative ;Receptors 5 O O O O
Uil LS A el Aot st 7 s e bt i 5
If Ali is in emergency situation then which: ‘ ‘Para ; ;
part of nervous system would be activated? :Central 1 Sympathetic ;sympathetic ;Somatic O O O O
‘.‘b”?_(gndlﬁ,‘?Vuf(fgtﬁ?g,ufd?;fp(gﬁlf(d‘fEdf/ stsan] i i(}é?/;l))lﬁ/:,; Ed; :
Which nerve is related with vision? ! Auditory ' Optic : Olfactory : Spinal O O O O
(PR END P S P o A i i i
E E iNerve i i
The basic unit of nervous system is: ‘Brain i Synapse iImpulse iNeuron : O O O O
PRVATIEN g Y 70 i e :
Which is NOT an objective factor of: : : f 5
attention? 1Colour 1 Contrast iRepetition  !Interest
("au:"/u")/’ K.?;l/u:(c_gﬂp;bui bf/ i)l'ﬁ E'/lf gﬁ; i O O O O

“If parallel lines are cut into a peculiar shape; ; ; :
they do not seem parallel, which illusion is; ' : :
this? ‘Herring iPoggendroff :Ponzo i Zollner O O O O

ﬁ;b)j”'d}l?;L@L:/fcu,v/:ﬁa)‘ftj){;’fbpd}l?}%/fl”E _f/:r E\Jufllr{_‘ 5‘),._{ E/:)
te Pl Suth, “ureduigis | ‘ '
Page 1 0f2 - |
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I Question Jr A B c D E
Food is an example of ;
17, reinforcement. 1 Primary 'Secondary  !Positive ‘Negative 5
cededeF . A L fed g ;
13, Latin word “Loci” means: i Memory i Learning ! Location i Repetition
PROY SN TR L Tl 2 L ;
Which theory claims that the traces of |
learned material begin to fade with the | : Proactlve ! Retroactive ! i Motivated !
14, Passage of time? " interference | interference : Decay i forgetting ¢
L(gﬂf’»ilxé&;g}f".L;L,J’;.t’/('jl):«:«/jl/u:(i Ml/"de E .:Jl]JbiJ;G" i Jb'/l(ﬁ E Uif’/(jf/‘ E
| s | 5 s
Sara is very social and fun loving girl, her : ; 5 ; 5
15, personality is: » Social » Introvert i Extrovert Ambivert
- M?JJLQ_LQJX/’/’IJ.L’MMV E 112 E Lsl E S g E uf»/;/di" E
in which defence mechanism individual:
16, unconsciously reverts to his early life? !Identification :Projection  {Repression :Regression

te bl Lt AL P67 0 f e Si e f 1 | e =y
In which type of interview, questions are ! ; ; ;
17, not pre-prepared? ' Dagnostlc ' Therapeutic ! Structured  Unstructured !
S L e by RSP e Pl S p = b YL LS LS 5
If a psychologist shows some pictures on ! ' ' Word
the card and asks to write stories, which : association : House-tree- 5
18 psychological test is he/she administering? ! Rorschach | T.AT ! test ' person '
JL)’(/u/u;‘qf:/&‘fdlffuqu}‘j&(fo_U’ﬁtu{fﬁ E (/ E JUI’JMIJDI; E fl./fd/ﬂ“uw E J/._-‘.‘»;J)-/ E
oS Ji1ad | ; ; ;
, 5 M.A 5 M'Ax100 1 CA c.A E C.A <100 |
15 19 =1 . C.A L C.A ' M.A ' M.A :
' f=efivi I /65 100 x 25 L/ ("!’)JU v 100 % (o) :
Lo (A AT e sy
3 ; i Charles
0. Whogave two factor theory of intelligence? | Guilford i Miller i Spearman | Alfred Binet !

WL L P o bads | s P Y R RV E »

—1HA-Il 2335-3351 — .

ROLL NUMBER '

n

|

Page 2 of 2 | @



! ] ] ] ! i ] ‘ ] [
§ ] . ] 1 [ | |

Time allowed: 2:35 Hours

PSYCHOLOGY HSSC-I

Total Marks Sections B and C:

b

65

NOTE: Answer any eight parts from Section ‘B’ and all the questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 40)

Q.2 Answer any EIGHT parts. Be brief and to the point in your answers. (8x5=

(i) What is the role of clinical psychologist?

i) Describe experimental method.
iii) Briefly explain Myopia.

V) What are the objective factors of perception?

(
(
(iv) Draw eye structure and label its parts.
(
(

vi) Write a note on instrumental conditioning.

{vii) Explain long term memory.

(viii)  Briefly explain Hunger motive.

(ix) Write a note on Cannon-Bard's theory of emotions.

(x) Describe the stages of language development.

(xi) Briefly explain Guilford’s model of intelligence.
SECTION — C (Marks 25)

Note: Attempt ALL questions.

Q.3  Wirite the functions of various parts of brain. (Without sketch)

Q.4  Write a comprehensive note on Survey method.

(OR)

Explain Freud's theory of personality in detail.

I )

(8x5 = 40) Sl o Lty P 2L ool 2 Lnz(8) M e iisprie
gl eeb$E A0 F (i) PSSy VR ()
SIS B L S P SE (i) oo G s (i)
e ol 3T (Vi) el SrE LS )
QSIS LA (Vi) el st (Vil)
Lk | LB (x) Hedd o (%)
UL i f ()
@25m? )y e
(-,é':d’dlr(l?)
(12) (Lo By 16 Lo 2 L
(13) i sy
(H)
TN i O 0y Yy
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(10 x 5 = 50) | w2 it s prlg e La7H10) sl efidszier it Ay
Q.2 , Answer any TEN of the following questions in three to four lines:
et p S 2 sl 0}
okl s tbutadsn (i)
sb e (I BE 2o s e U S i)
e UL Ko I ()
- ;:‘”er:;r AL B Sy Seolos S Soud (v)
o ::;f’l[/ L1l It AN SIon S s (v})
(IS s Sorslpef? WG (vii)
S et f e B b s (Vi)
S WA e AL ett§ NIl Bipey (IX)
S b P UL 2 S0 £ Wi Ao P (x)
y_’f L FJBGET P8 Il Siose” (i)
U e R LT (i)
$§To e S pSS b e P U sy U (xil])
c L T L WS 53 p s s (XiV)
SO Uit S (xV)
Sostse GG s ZESELs  (XVi)
b o o ded B
B0~ r—s |
(10) 1 2L AL el B LS Ay
Q.3 Translate any ONE of the following passages into Urdu or Simple Persian:

(50/-# J/)Fu,_j

e i 38 aalz o psle 5LY 53 Jlas e Eadl ek Ul sy slaly S Oy B 0

o -8 S aliaa S i i agle 50 .y &5 bl i aed 8301 3 (55 0 AS aa

ot 530S kil S el a5 (ide g Bae g ity (Slen myg 3 a8 S QLR L
.mwjoﬁujﬁom‘)u)aj)}ouu@b Lﬁ#ﬁdﬁdﬁem‘@ch\&\ﬁ\.\?&n
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it 3 oda i ety O 315 -8l J 5 e () SS 0 258 393 pe byl plydBua 3 (52" 1ASaga 8 -
S e Uae 3 Gl AS dapd 50 o W ccuallae 31 aey (o g canddae cilla j 93 9¢ Cad Uae )
a3 683 ellia (63 30 a3 AS 0 it AS F day8 30 5 call e a3 cala ) sa aail AS il
AS dapd G (5 38 483 AS (o da il a3 200 0l a1 ey 0 7 A dlid a0 &S S
| A S35 a5t Gl 1) Of S Gl aad sl &S Gaaldac 3 sy

(10) (&L S i S Lttise w7
Q.4 Translate and explain any FIVE of the following stanzas: '
BTy g Gl G i) g ek B e S e

) B VA S IS VR (YRR < g

JP S oy e

S T T e e N () BRNS"D - S5 (NP S S 5 B P B (1)
flas AR BTY I la B Cuald ¥ ¢ gy 1y el e S

GhuSly b ab Gl adia (vi) el J& S b d a0 (v)
GhaSh by b s sl oS o 2l (Al gd Jlgu WS (al) gl ey

Ay (s dealie g Canad CSU Hlad Gy J e aa K (Vi)
J,s.aef.@ggqmbotsgwgsmb@m

(10)

1 2R LML 0y

Q.5 Translate any FIVE of the following sentences into Persian:

(i) My name is Maryam.

(i) | study in 11" grade.

(i) The college is not very far away from my home.
A(iV) Today we studied the last chapter of Persian.
(v)  Karachi is the largest city of Pakistan.

(vi)  Our beloved country has four provinces.

(viiy Mulana Jami was a famous poet, writer, scholar and sufi
of iran.
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?‘gailgg;rlflzj_/s&uf,‘if)(fdk:/g ' o4 L '
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10. Vo o : : :
Sl knSIE ol L Lin )1y tof e b 3 O O
1 Which one is the primary group?- EFamily éSociety ‘Individuals iNation O O
Seos SIS e Ll | A P Lt 2] :
Which group has ‘face to face interactions’? fSecondary fPrimary In 1Out ; '
12 A : g : O O
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?lgwa:f;ufc_kﬁ,;z-,» tolol VST ey 4 VA !
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SOCIOLOGY HSSC-|

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.
SECTION - B (Marks 50)
Q.2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 4 Ii'nes.
' (15 x 3 = 45)
0} How is Sociology a social science?
(i) th has given the nomenclature of Sociology?
(iii) Write any three purposes of NGOs.
(iv) What is meant by ‘Sociology of family'?
(v) What is meant by ‘science’?
(vi) What is the relationship of sociology with history?
(vii) Describe any three examples of social interaction.
' (vii)  Whatis h"neant by symbolic interaction?
(ix) What is meant by accommodation?
(x) Write a brief note on acculturation.
(xi) Give any three examples of physical interaction.
(xii) What are the elements of social action?
(xiii)  Differentiate between ‘In" and ‘Out’ groups.
(xiv)  What is meant by social stratification?
(xv)  Enlist any three factors of social stratification.
(xvi)  Write the types of social class.
(xvii)  Briefly explain caste.
(xviii) What is meant by ascribed role?
(xix) - What is meant by role conflict?
(xx) Enlist names of any three major religions of the world.
(xxi)  What is the difference between nomadic and sedentary societies?
b. Attempt any ONE part. (ix5=5)
0] What is the concept of society in Islam?
(ii) Describe family. Discuss its types briefly.
SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10 = 30)
Q.3 Describe and differentiate primary and secondary groups.
Q. 4  Discuss social mobility and its types in detail.
Q.5 Whatis meant by social norms? Also discuss in detail its types by giving examples from Pakistani society.
Q.6 How is ‘culture’ described? Identify and explain its types.
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